

## MARK CHAPTER 8 – ‘ARE YOU SO DULL?’

### SUMMARY

The opening words of Mark 8: ‘**During those days another large crowd gathered... they had nothing to eat.**’ There were two ‘large crowds’ recorded in Mark – the first crowd is a prophetic type of believers at the beginning of the Age of Grace and the second is a prophetic type of believers at the end of the Age of Grace.

The crowds are hungry because they have no bread. The apostles can’t feed them because they also have no bread (revelation of God). Their hearts are dull because they subsist on one old loaf of bread (man’s religion). Jesus breaks their bread (destroys man’s religion) and feeds the believers fresh bread (the truth of God).

Events in the life of Christ are prophetic. The ministers in the church in the last days will be blind to prophecy being fulfilled before their eyes. A time of testing is coming upon the church and the apostles of Jesus are not preparing God’s people for it. Jesus is on a journey that ends in his death on Calvary. He tells the believers they must ‘**take up their Cross and follow him**’. Jesus is preparing the church for martyrdom in the last days.



### MARK 8: ARE YOU SO DULL?

Verses <b>1-4</b>	<u>Apostles have no bread:</u>	<b>Church of the Last Days: spiritually starving</b>
Verses <b>5-9</b>	<u>Jesus feeds the 4,000:</u>	<b>Church of the Last Days: idolatry of exalting man</b>
Verses <b>10-13</b>	<u>Pharisees ask for a sign:</u>	<b>Church of the Last Days: legalism snuffs out grace</b>
Verses <b>14-21</b>	<u>Apostles have no bread:</u>	<b>Church of the Last Days: hearts are completely dull</b>
Verses <b>22-26</b>	<u>Healing of Blind Man:</u>	<b>The Remnant: those outside religion know the truth</b>
Verses <b>27-30</b>	<u>Secret Confession of Christ:</u>	<b>The Remnant: Told to go underground</b>
Verses <b>31-34</b>	<u>Jesus predicts his death:</u>	<b>The Remnant: Martyrdom is coming</b>
Verses <b>35-38</b>	<u>Apostates will be sorry:</u>	<b>The Apostates: Jesus will not honor you</b>

## CHURCH OF THE LAST DAYS – SPIRITUALLY STARVING

The main message of Mark 8 is there will be blindness in the church to prophecy in the Last Days (before the Rapture). A basic principle of prophetic interpretation is when history is recorded in Scripture it has a dual meaning: the literal **Plain Facts** and the deeper spiritual **Hidden Manah**. The apostles who followed Jesus could not see past the plain facts. Their hearts were dull – they weren't interpreting events according to spiritual insight. Dear reader, is your heart dull? Are you able to look at events in the world you live in and make sense of them in terms of Scriptural fulfilment? As we go through Mark 8 we will revisit events that happened to real people. Through spiritual insight we will make sense of them in prophecy.

Our hope and our prayer is through this demonstration of spiritual insight you will recognize such a thing exists and you will ask God to give you spiritual wisdom to understand events happening around you. If you receive this gift then you will be qualified even to feed God's people. If you do not have this gift you are a blind guide. You may be saved but as a minister you will have no fresh bread to feed the flock of God.

In order to tease out the spiritual meaning of the Word of God we will rely on the usual research tools: understanding the Greek words, the historical context, and the Scriptural context. We will also rely on insight which can be gained from the understanding of spiritual numbers. Greek letters stand for sounds of words but they also stand for numbers. When Greeks counted they did not use Arabic numerals as we do today they used their own letters. Thus a Greek word has a literal meaning and a numerical weight equal to the sum of the numbers of its Greek letters, which we call its 'gematria'. Using the meaning of Bible numbers, which we present on our website: [www.biblenumbersforlife.com](http://www.biblenumbersforlife.com), we uncover what is the spiritual meaning of the gematria of a word or a phrase or a verse<sup>1</sup>. Using insight from the literal words and the spiritual numbers we arrive at the message that God is telling us. The gematria meaning and the literal meaning never contradict because both are from God and therefore must agree with the truth. We are greatly aided in our research because godly men who went before us analysed the gematria and preserved their insights for us in what we now know as chapter and verse divisions in the Bible.

**Plain Facts:** **"In those days the multitude being very great, and having nothing to eat, Jesus called his disciples to him, and said to them,"** (Mark 8:1)

**Hidden Manah:** Gematria 13,434 = 6 x 2,239 [333<sup>rd</sup> prime]. The spiritual meaning of the numbers is **Flesh (6) God Seen (333)**. Fascinating! Isn't this what we are saying? When we look at events in the world, the visible **Flesh (6)**, we gain insights into spiritual things: **God Seen (333)**. We see so long as we have eyes to see. God has the eyes to see (333); God reveals what He sees (333) to his prophets. Our flesh has no 'eyes to see' spiritual things. Only through the Spirit can we see what God sees.

The text says '**In those days**'. The plain meaning is: 'in the days of Jesus and his disciples'. But using the spiritual insight in the gematria of this very passage, we draw the conclusion that what happened in the life of

<sup>1</sup> The following pages would be useful places to start: Page 1 INTRO, Page 8 GEMATRIA, and Page 22 HEBREW.

Jesus and the apostles in the Flesh (6), actually points to another time in the future: 'in the days of Jesus and his disciples' concerning another day, or time in history, which is the end of the Age of Grace.

The text says '**the multitude being very great**'. Here is a mystery: at the end of the Age of Grace there will be a great many people who love Jesus. That would seem a contradiction – we would expect that the Age of Grace would not suddenly end when there are many Christians in the world. We would expect it to end when the Christians are few and scattered.

The text says '**having nothing to eat**'. Here is our explanation: there are a lot of people in the world who believe in Jesus, but they are starving. Therefore, in spite of the large numbers, the church is about to perish.

The text says '**Jesus called his disciples to him**'. Jesus is going to hold his servants the apostles accountable for the starvation of his holy flock. If a servant of Jesus is unable to understand prophecy, then that servant is not qualified to feed his people because he is a blind guide.

**Plain Facts:** "**I have compassion on the multitude, because they have now been with me three days, and have nothing to eat:**" (Mark 8:2)

**Hidden Manah:** Gematria 8,781 = 3 x 2,927 [423<sup>rd</sup> prime]. The spiritual meaning of the numbers is **Binding (3) of Ministers of God (423)**. Let us suppose a servant takes a commission to feed the sheep of his master. What will the master do when he finds the sheep are starving: '**they have nothing to eat**'? He will hold that servant accountable: **Binding (3) of Ministers of God (423)**.

The text says: '**they have been with me three days**'. Come now Bible scholars and scribes, tell us the prophetic meaning of the 'three days'? Moses wrote in Psalm 90: 'For **a thousand years are in your sight like a day** that has just gone past' (verse 4). Jesus is placing his marker down and saying the future time to which this whole prophetic passage refers will occur in the 3<sup>rd</sup> thousand years after Christ. This is the time in which we now live. Two thousand years have passed, and we now live in the 3<sup>rd</sup> millennium after Christ<sup>2</sup>.

**Plain Facts:** "**And if I send them away fasting to their own houses, they will faint by the way: for divers of them came from far.**" (Mark 8:3)

**Hidden Manah:** Gematria 10,912 = 32 x 341. The spiritual numbers mean **Fellowship (32) Remnant is Weak (341)**. The spiritual numbers are telling the same story as the text. The remnant of the faith is weak, almost to the point of fainting for lack of food.

The text says '**if I send them to their own homes they will faint**'. In the Last Days believers will not meet in homes as early saints did. They will go to church buildings to hear the Word of God from preachers. In the Last Days saints will be so weak they cannot feed themselves spiritual food. As miserable as the teaching is in the church is, the people of God are trapped in there, because they can't read the Bible for themselves.

<sup>2</sup> Page 10 TIME on our website explains the millennial prophetic calendar.

The text says ‘**for divers of them came from afar**’. This explains why Christians in the Last Days are so weak. They come from ‘afar’. Christians will be saved in lands far from the Promised Land. They come out of cultures and ways of life foreign to pious Jews in Bible times. In the Last Days an atheist commercial ethos will come on to the scene. The few landmarks in society which point back to days when people were more in tune with spiritual truth will be removed. For example, for many centuries Saturday and Sunday were considered spiritual day of rest in Europe and the United States. Laws forbidding buying and selling on the Sabbath and Sunday have been abolished. And so traces of Christian origins are erased from cultural memory.

**Plain Facts:** “**And his disciples answered him: From whence can a man satisfy these men with bread here in the wilderness?**” (Mark 8:4)

**Hidden Manah:** Gematria 10,879 = 23 x 473 and 43 x 253. The spiritual numbers mean **Death (23) The LORD Thunders (473) and Humiliation (43) Spiritual Battle (253)**. What a humiliation. The servants of the LORD have no food with which to feed the hungry people. No longer do people hear the words of God pronounced with fervent conviction: Death (23) (to) The LORD Thunders (473).

The disciples say ‘**From where can a man** [get bread] **to satisfy these men**’? This is a picture of the servants of God totally at a loss. Where is the bread of God? The bread of God is in the Bible. In the Last Days even the servants of the LORD will not read their Bibles. They will read books written by men. And go to conferences with speakers. The Bible will be forgotten.

The Text says ‘**in this wilderness**’. Ministers will perform rituals with incense and candles. Churches will have choirs and stain glassed windows. The people will sing popular Christian songs with zero Biblical content. There will be no spiritual food in the church or in the world.

### **CHURCH OF THE LAST DAYS – IDOLATRY OF EXALTING MAN**

The people of God are starving for spiritual food. They are lost in an atheist commercial secular culture and what they find in the Christian community is worthless as spiritual food. The people cannot read the Bible and feed themselves so they go to local church gatherings in buildings. The so-called ‘ministers’ in those churches can’t lift a spiritual message from off the pages of Scripture either. The blind are leading the blind. The servants of the LORD are in distress. They know the church is in spiritual decline but they don’t know where to find food to feed the people. Jesus must address the problem or the Age of Grace will be over soon.

**Plain Facts:** “**And he asked them: How many loaves have ye? And they said: seven.**” (Mark 8:5)

**Hidden Manah:** Gematria 6,392 = 17 x 376. The spiritual numbers mean **Victory (17) Flattery of the King (376)**. What is the secret of the seven loaves? Why is it Jesus must break these loaves in order to feed the people? Mark 8 is the 36<sup>th</sup> chapter of the New Testament. The spiritual number 36 means **Exalting Man (36)**.

In the church of the Last Days it is all about Man: the Pastor, the Teacher: the Leader of the church. Believers enter these churches and everything points to the centrality of the professional staff person. The hymns, the choir, and the offering make ready the coming of the priest and the king of the people. The climax of the ecclesiastical event arrives: The **Exalted Man (36)** strides onto the platform elevated above the laity beneath him and makes a speech. All eyes are fixed on him. All mouths are silent before him. No one dares utter a word. For this is his church. He is the minister and he has authority over it. The people bow down before him like slaves in Egypt: **Victory (17) Flattery of the King (376)**.

The Text says '**How many loaves have ye?**' The correct answer to that question is 'None!' We have no bread with which to feed the people. The flesh of man is worthless. The mind of man is darkness. The words of man are meaningless. The disciples say '**Seven**'. The spiritual number 7 means **The End (7)**. When Man only has the wisdom of Man to give the people: it is **The End (7)** of spirituality.

Let's drill down into the gematria and see if individual words confirm these conclusions:

v5	Words 10 Letters 46	Total =	6392	2 * 2 * 2 * 17 * 47	17 VICTORY	376 FLATTERY OF THE KING
		Original Text				
		Greek	Value			
And	και	31	FAMILY	1325	53	25 PAYMENT FOR SIN
he asked	επηρωτα	1294	2 647 [118] JEWS FOLLOW JESUS	3716	4	929 [158] FEAR OF DEATH
them,	αυτους	1371	3 457 WICKED ARE CARELESS OF GOD	2391	3	797 [139] SORCERY / CONTROL
How many	ποσους	1020	4 255 PROPHET SHAMEFULLY NAKED	4377	3	1459 [232] REPULSIVE PEOPLE
have ye?	εχετε	915	5 183 DEADLY BLOW	1986	6	331 THE LORD IS MY STRENGTH
loaves	αρτους	1071	17 63 GOD'S WRATH	2075	25	83 NATIONS WHO HATE GOD
Behold!	οι	80	PRAYER: Son of Man	89		SON OF DAVID
And	δε	9	JUDGMENT	690	10	69 KILLING BELIEVERS
they said,	ειπον	215	COURAGE TO FIGHT GONE	601		[110] DAY OF WRATH
Seven.	επτα	386	ALLY WITH WICKED			

At the first level of the gematria of the words here is how the message reads:

- The **Family (31)** that **Destroys (2)** the **Jews That Follow Jesus (647 [118])**
- The **Prophet is Shamefully Naked (255)** in the circle **Wicked are Careless of God (457)** he is **Bound (3)**
- This is a **Deadly Blow (183)** to **Grace (5)**; the only **Victory (17)** it will bring is **God's Wrath (63)**
- In Heaven, the **Son of Man (80)** prays for **Judgment (9)** upon the sin of the shameful prophet
- On Earth, the **Courage to Fight is Gone (215)** for God's People have **Made Ally With Wicked (386)**

At the second level of the gematria we sum the individual words together. There are 10 words so we divide them into 5 groups of 2 words each. 10 = 5 x 2. This is what the sum of the five by two words tells us:

- God's servants, his **Faithful Witnesses (53)**, will get **Payment for this Sin (25)**
- These lords of the Holy Flock have a spirit of **Sorcery / Control (797 [139<sup>th</sup>])** which **Binds (3)** them
- Their message is the **Flesh (6)** saves us: **The Lord is My Strength (331)**
- By taking authority over the church, the crown that belongs to God is on their heads: **Son of David (89)**

- The only result of this treason can be: **Day of Wrath (110)**

At the third level of the gematria we sum the numbers from the second levels below together. This concentrates the spiritual truth even more, like squeezing the juice out of an orange:

- The church **Message (4)** is **Fear of Death (158)** – the opposite of God’s message of salvation by faith;
- The church becomes a **Repulsive People (232)** - the opposite of who we are meant to be, dearly loved;
- The church becomes **Nations That Hate God (83)** – on the path to receive **Payment for Sin (25)**
- The final end of this church is **Testimony (10)** of **Killing Believers (69)** – preying on true believers.

The mystery of the Seven Loaves is that over time, over two thousand years of time, God’s people will drift away from the belief Jesus is Lord and towards **Man’s Religion (34)** {Mark 6} which **Exalts Man (36)** {Mark 8}. In order to feed the people spiritual food JESUS MUST BREAK THE SEVEN LOAVES. Jesus must destroy and abolish all this man-made offense to the gospel and get back to the roots of the faith.

**Plain Facts:** “**And he commanded the people to sit down on the ground: and he took the seven loaves, and gave thanks, and broke, and gave to his disciples to set before them; and they did set them before the people.**” (Mark 8:6)

**Hidden Manah:** Gematria  $16,820 = 2 \times 2 \times 5 \times 29 \times 29 = 58 \times 290 = 116 \times 145 = 20 \times 841$ . A whole lot of meat is on these bones. The spiritual numbers mean:

- **Worldly Life (58)** of **Holy One of Israel (290)**. When Jesus breaks the bread of Man’s Lordship it exposes the Holy One of Israel (290) is not the Pastor, the Priest, or the Pope: all these authority figures in the church live a Worldly Life (58) by exalting themselves above the laity; The Holy One of Israel is the Lord Jesus Christ – and he is not of this world;
- **Compassion (145)** granted upon **Prayer of Confession (116)**. If the servants of the LORD take this bread, this divine truth, and minister it to God’s people, feed them with it, then the LORD will show compassion and forgive the sin of the church leaders and the people who supported them;
- **Distress (20)** of **Holy One Exalted (841)**. This sin has caused great distress to the Lord Jesus because he does not want to set aside the church; at the same time, to come to a proper repentance, the leaders of the church on earth must become distressed – and step down from their exalted perch.

The text says ‘**He commanded the people to sit down on the ground.**’ It is a time of repentance. By sitting we come closer to the earth - in a way this suggests the message: ‘you are near death’. Get right with God or you will soon find yourself under the earth.

The text says ‘**He took the seven loaves and gave thanks and broke.**’ It is a time to break the lordship of man. The only one who can break man’s lordship of the church is God. The church must let God be God. This can only happen when the authority structures of Man are demolished.

The text says '**and gave to his disciples to set before them, and they did set them before the people**'. The first ones to repent must be church 'leaders'. They must renounce all religion for the people to understand.

**Plain Facts:** "**And they had a few small fishes: and he blessed, and commanded to set them also before them.**" (Mark 8:7)

**Hidden Manah:** Gematria 3,962 = 14 x 283. The spiritual numbers mean **Righteous (14) King Rejected (283)**. The Text says '**And they had a few small fishes**'. In the church in the Last Days many nominal Christians will be in the churches: **Righteous (14) King Rejected (283)**. There will be only a few believers following Jesus: only a few small fishes. In order for revival to come, these few small fishes must also be broken. The few small fishes must become broken with distress in the condition in the church. They must rise up and speak to the unbelievers with a clear prophetic message: either the church repents and accepts Jesus as Lord (meaning completely destroys man's religion) or we will leave this place.

**Plain Facts:** "**So they did eat, and were filled: and they took up of the broken meat that was left seven baskets.**" (Mark 8:8)

**Hidden Manah:** Gematria 6,568 = 8 x 821 [142<sup>nd</sup> prime]. The spiritual meaning of the numbers is **Holy Man (8) Rash Decision (142)**. It is not easy to leave a community with people who know you and love you. This is what Jesus commands: leave father and mother and brother and sisters for the sake of the gospel. Those who respond to Jesus' call to come out from man's religion will suffer in their souls: the rejection they will experience will be cruel. In the Last Days there will be a revival: '**they took up of the broken mean that was left seven baskets**' but it will come at a cost: many people will suffer who leave organized religion to meet the Lord in the wilderness. To those who remain in man's religion the departing ones made a **Rash Decision (142)**. But to the Lord who welcomes them: they are a **Holy Man (8)** very much like himself.

**Plain Facts:** "**And they that had eaten were about four thousand: and he sent them away.**" (Mark 8:9)

**Hidden Manah:** Gematria 6,316 = 4 x 1,579 [249<sup>th</sup> prime]. The spiritual numbers mean **Message (4) of Joined to Nations That Hate God (249)**. The number 4,000 = 40 x 100 which has the spiritual meaning **Severe Test (40) Holy Flock (100) and Message (4) Holy Tribe (1,000)**. In the Last Days of the Age of Grace it will be difficult to be a genuine Christian. Who will believe the **Message (4)**? Every saint must now choose: do they join the **Holy Tribe (1000)** that leaves the nominal Christian communities and joined to the LORD in the wilderness; or do they stay with the nominal Christian communities who are: **Joined to Nations that Hate God (249)**? The Text says '**he sent them away**'. The LORD is in the midst of his people. The Nations that Hate God he sends away from his presence. And, the people who love Him he sends away from the nominal Christians.

**CHURCH OF LAST DAYS: LEGALISM SNUFFS OUT GRACE**

When there is no witness of the Holy Spirit in the heart the flesh looks for an outward sign, a miracle. In the last days there will be many nominal churches with millions of nominal Christians. The pastors and priests of those churches will have no bread to feed the people because their hearts are dull. In desperation for some fantastic supernatural display that will attract gawkers the church demands miraculous signs from God. But none will be given to them. By presumptuously demanding a sign which will not be given they will discredit Jesus before the hearers. The lack of a sign does not disprove the existence of God. It proves the church has no internal witness of the Holy Spirit to guide them in what to ask of God.

**Plain Facts:** “**And straightway he entered into a ship with his disciples, and came into the parts of Dalmanutha.**” (Mark 8:10)

**Hidden Manah:** Gematria 7,845 = 15 x 523. The spiritual numbers mean **Covenant (15) Sharp Arrows Pierce Hearts (423).**

The Text says ‘**he entered into a ship with his disciples’**. We know from our study of Mark 6 that a ‘ship’ represents a man-made thing that the disciples trust in. Jesus does not need to ride in ships – he walks on water. So, we have a clue that Jesus is going inside man’s religion in the Last Days to investigate what is happening. What is happening is the edifice of man’s religion is working to destroy faith in Jesus.

Here is the gematria of the 15 words in Mark 8:10 with spiritual meanings at the first and second level:

v10	Words	15 Letters	68 Total =	7845	3 * 5 * 523	15 COVENANT	523 SHARP ARROWS PIERCE HEARTS
			Original Text				
			Greek	Value			
And	και	31	FAMILY				
straightway	ευθεως	1419	43 33 SCATTERED REMNANT	1698	6	283 KING REJECTED	
he entered	εμβας	248	DOOMED TO DIE				
into	εις	215	COURAGE TO FIGHT GONE				
the	το	370	WORSHIP OF ANGELS	895	5	179 POOR HAVE FAITH	
ship	πλοιον	310	KEEP THE FAITH				
with	μετα	346	RULERS OVER SPIRITUAL SONS				
the	των	1150	10 115 DEATHLY SILENCE	2704	8	338 SINFUL CITY FALLS	
disciples,	μαθητων	1208	8 151 MAN'S POSSESSIONS				
of him	αυτου	1171	[193] JEWISH NATION BELIEVES				
and came	ηλθεν	102	DESTITUTE & ABANDONED	1488	4	372 GLORY OF GOD IS COVERED	
into	εις	215	COURAGE TO FIGHT GONE				
the	τα	301	KING PILES UP WEALTH				
area	μερη	153	TRIBE OF BELIEVERS	1060	4	265 NO PLACE TO LAY YOUR HEAD	
Dalmanutha.	δαλμανου	606	6 101 REBELLIOUS CAST OUT				

At the second level: First, man’s religion rejects Jesus: **King Rejected (283)**. Believers who remain are **Humiliated (43)** and **Scattered (33)**. Second, man’s religion serves the rich people: the poor have no place in it: **Weakness (5)** of **Poor Have Faith (179)**. Third, man’s religion keeps a tight grip on authority by appointing

leaders to lord over the church: **Rulers Over Spiritual Sons (346)**. Fourth, man's religion is in business to promote itself, therefore it must diminish Jesus: **Glory of God Covered (372)**. Fifth, man's religion does nothing for believers, forcing them out: **No Place to Lay Head (265)**.

The Text says '**came into the parts of Dalmanutha**'. The actual town site of Dalmanutha has never been positively identified. We believe it was in the area of Magdala because of a parallel account in the Book of Matthew. Archeologists have found pottery in the area between Magdala and the coast of the Sea of Galilee indicating settlements there were wealthy based on finds of 'vessel glass and amphora'.<sup>3</sup>

What Jesus finds in the Last Days church is a group of people united in a strong **Covenant (15)** of resistance against the gospel: **Sharp Arrows Pierce Hearts (423)**. What Jesus finds is rich people who love money and who resist any suggestion to part with it to help the poor. Jesus is the Defender of the Poor therefore in the religion of the Last Days every effort is made to discredit Jesus. Rather than asking God to examine the sin of their hearts, the rich religious people question Jesus. As we see in the next verse.

**Plain Facts:** "**And the Pharisees came forth, and began to question with him, seeking of him a sign from heaven, tempting him.**" (Mark 8:11)

**Hidden Manah:** Gematria 11,092 = 59 x 188. The meaning of the spiritual numbers is **Rich Oppressor (59)** **Great Fear of God (188)**.

The Text says '**And the Pharisees came forth**'. What a shock to find the Pharisees appearing in the Last Days of the church! The Pharisees were a sect of legal experts in the Torah: the Law of Moses. The Pharisees are the progenitors of the modern rabbinical movement of Torah interpretation. The Pharisee view was rituals described in the Torah concerning the priesthood applied to all Jewish people. For example, they imposed requirements of ritual washings on the common people.

The sin of the Pharisees was not that they upheld the Law of Moses it was because they misapplied it and added a host of man-made laws in addition to the Torah upon the backs of all Jews.

In the Last Days religions will arise using the name of Jesus but imposing Old Testament laws upon Gentile Christian believers. The rite of circumcision. The structure of a priesthood over the laity. The requirements of laity to pay tithes to support temples of religion and professional priests: **Rich Oppressor (59)**. The saints are taught if they disobey these laws God will punish them: **Great Fear of God (188)**.

The Text says '**began to question him**'. This certifies the Pharisees, and their modern legalistic counterpart in the church, do not start from a point of faith in Jesus. Their religious edifice is a legal creation based on laws in the Torah and laws they have invented and added on. No faith is required to keep laws. It is a work of the flesh. Nothing is spiritual in their religion at all.

<sup>3</sup> [http://www.huffingtonpost.com/2013/09/17/dalmanutha-biblical-town-gospel-of-mark-sea-of-galilee\\_n\\_3940919.html](http://www.huffingtonpost.com/2013/09/17/dalmanutha-biblical-town-gospel-of-mark-sea-of-galilee_n_3940919.html)

The Text says ‘**seeking of him a sign from heaven, tempting him.**’ The arrogance of these Pharisees that they would dictate to God what would make them believe. Rather than approaching the LORD with humility and asking him ‘what do you desire of me?’ Instead they ask God to do their bidding. The Pharisees, the teachers of the Law, legalists, prove that they themselves are unteachable.

**Plain Facts:** “**And he sighed deeply in his spirit, and said: Why doth this generation seek after a sign? Verily I say unto you: There shall no sign be given unto this generation.**” (Mark 8:12)

**Hidden Manah:** Gematria 9,872 = 113 x 16. The spiritual numbers mean **Rapture (113) Sacrifice (16)**. Here is the appalling message: once the church becomes indoctrinated that following laws make it righteous, that lie sounds the end of the church. Once the message of Grace through the **Sacrifice (16)** of Christ is unobtainable through the church, God closes the doors; the Age of Grace is over: the **Rapture (113)**.

Paul makes it very clear in the New Testament that the message of the gospel of grace, salvation through the vicarious atonement of Christ’s death on our behalf, is incompatible with the message that Christian must obey religious laws to obtain merit with God. All people are prisoners of sin, locked up and condemned. What does it concern the prison warden if the prisoner is a model prisoner? Every prisoner to the law of sin must die for their sins, whether they are a model prisoner or not. Unless the King (the Father in Heaven) offers his forgiveness every sinner is doomed. On the basis of Christ’s payment for sin, we can be forgiven, and we are released from the prison of sin. As free persons – we – are – no – longer – under – the – laws – of – the – prison. Religious laws are for religious slaves not for Christians. Christians follow the way of Love.

Jesus says ‘**No sign shall be given to this generation**’. Yet the spiritual numbers clearly indicate this is the church of the Last Days – the generation of the **Rapture (113)**. Won’t the rapture be a sign to the world of the promises of Jesus being fulfilled?

Here is a mystery: who saw the resurrected Christ? Only his disciples saw him. The Romans and Jews only saw the empty tomb. They came up with theories to explain how the body went missing. After rising from the dead Jesus appeared to believers, even hundreds of them at one time. But Jesus did not appear in Herod’s Temple to surprise his doubters. Jesus told the Jews the only time they would see him is when he returned on the clouds of glory with his angels to judge the earth. This is the only sign they would see – and it would be terrifying. Therefore we can assume when the rapture occurs it will be a mystery to earthlings.

If the saints in the Last Days left the church and gathered secretly to share their faith who would miss them? Jesus said ‘**Will I find faith when I come?**’ There won’t be many faithful left on earth when Christ returns. Many will already have died as martyrs<sup>4</sup>.

This is why ‘**he sighed deeply in his spirit**’: to Jesus the sign of the Rapture is as much about the death of the church and the martyrdom of many saints. His enemies were taunting Him with the prospect of that sad day.

<sup>4</sup> For a presentation of end time events of the church, we invite you to read our paper ‘The Seven Seals’ on Page 4 Prophecy on our website: [www.biblenumbersforlife.com](http://www.biblenumbersforlife.com)

**Plain Facts:** “**And he left them, and entering into the ship again departed to the other side.**” (Mark 8:13)

**Hidden Manah:** Gematria 4,436 = 4 x 1,109 [186<sup>th</sup> prime]. The message of the spiritual numbers is **Message (4) New Glory Dawns (186)**.

The Text says ‘**he left them**’. Mark this: if your church becomes legalistic it will drive out the Spirit of God.

The Text says ‘**entering into the ship again**’. How are we saved? It is not by disciples entering the ‘ships’ of man’s invention: magnificent churches and the religious systems that go with them. We are saved when Jesus comes into our ‘ship’: the tent that is our body on earth. The flesh of the believer is the tabernacle of God.

The Text says ‘**departed to the other side**’. This is the **Message (4) of New Glory Dawns (186)**. Our Lord Jesus is now ‘on the other side’ – in Heaven sitting at God’s right hand. All the clergy and religious elites that set up kingdoms on earth sit on thrones on earth. Our precious Savior sits on a throne in Heaven. We put our trust in Him to return from Heaven and sweep us up to be with him forever.

Hallelujah!

### **CHURCH OF THE LAST DAYS: HEARTS ARE COMPLETELY DULL**

We should not be at all surprised. When the church of the Last Days is sunk in man’s religion the Spirit of God departs. Without the Spirit of God how would anyone be able to interpret prophecy? The Last Days have been thought about and prophesied about for 6,000 years. And yet the people who are the subject of the great fulfillment of prophecy are oblivious to it.

**Plain Facts:** “**Now the disciples had forgotten to take bread, neither had they in the ship with them more than one loaf.**” (Mark 8:14)

**Hidden Manah:** Gematria 7,490 = 20 x 397. The spiritual meaning of the numbers is **Distress (20) Pardoned People Worship (397)**. In plain and simple language what prophecy says is **Distress (20)** will come in the Last Days on the followers of Jesus: **Pardoned People Worship (397)**. Yet, the disciples are oblivious to the danger.

The text says ‘**Now the disciples had forgotten to take bread**’. The disciples have forgotten the bread – they are clueless that the Word of God – the bread of life – is full of prophecy concerning the Last Days – both of the church during the entire Age of Grace – the Great Tribulation period when the church is taken out of the world and God deals with the Jewish people again.

The text says ‘**neither had they in the ship with them more than one loaf**’. The disciples had the most basic grasp of the first principles of God’s revelation, that somehow God would be faithful to them even if they were unfaithful. Such was their massive ignorance.

**Plain Facts:** “**And he charged them, saying: Take heed, beware of the leaven of the Pharisees, and of the leaven of Herod.**” (Mark 8:15)

**Hidden Manah:** Gematria 10,474 = 2 x 5,237 [697<sup>th</sup> prime] 697 = 17 x 41. The spiritual numbers mean **Division (2)** of {**Victory (17)** of **Man’s Rules (41)**}. A gematria that perfectly fits with the words in the text.

The Text says ‘**he charged them**’. The Greek word is ‘**διαστελλομαι**’ which means: a commission; a strict order; a command that is explicit, unambiguous, and clear. The Greek word is a combination of ‘**δια**’ meaning ‘through’ and ‘**στελλο**’ meaning ‘send’. Jesus is dividing and distinguishing good and evil for the disciples; he is showing them ‘the path that goes through’, that avoids traps, snares, swamps, and dangers ahead.

The Text says ‘**beware of the leaven of the Pharisees**’. As we have already mentioned the Pharisees were a legalistic sect. They set themselves apart from other Jews on the basis of keeping man-made laws in addition to the Torah. Legalism snuffs out grace as we have already shown. This is therefore a deadly sin to Christians.

The Text says ‘**and of the leaven of Herod**’. Herod was a secular ruler who also controlled the Jewish religion through manipulation of the priesthood. This is a warning to the church to keep herself separate from the state. We are the bride of Christ, pledged to Him. An alliance with a secular power is spiritually a marriage.

**Plain Facts:** “**And they reasoned among themselves, saying: It is because we have no bread.**” (Mark 8:16)

**Hidden Manah:** Gematria 5,253 = 51 x 103. The spiritual numbers mean **Praise (51) Word of God (103)**.

The Text says ‘**they reasoned among themselves**’. The disciples had forgotten the bread: they had so little Biblical guidance that they were reduced to debate and human logic to reach conclusions concerning how to guide the church. They did not understand what Jesus was saying. They did not know that ‘leaven’ in the Bible relates to teaching that puffs up the hearer. For example, the Pharisees think of themselves as better than other Jews because they believe they more scrupulously obey the Torah. Since an aim of Christianity is a state of humility before God, Jesus was warning the apostles to avoid this teaching.

The Text says ‘**saying: It is because we have no bread.**’ The conclusion they reached was wrong. They thought Jesus was rebuking them for forgetting to bring the physical bread. Their minds were that unspiritual.

This is how spiritually poorly the church in the Last Days will be. In spite of explicit direction by Jesus to avoid the leaven of the Pharisees and of Herod the church in the Last Days will be plagued by both errors. Believers in the Last Days will read this exact same passage and not come to any awareness of their own error. They won’t see the spiritual types and shadows because they are Biblically illiterate. They will only read the plain meaning and not understand there is also a deeper meaning, spiritual food for their souls.

Spiritual insight from the gematria of the verses in the Bible is an extension of this principle of Bible interpretation: God has put hidden manah in His Word to feed our hungry souls delicacies of His truth and wisdom. If you reject gematria you are no better off than these clueless disciples who have no bread.

**Plain Facts:** “**And Jesus knew it, he said to them: Why reason you because ye have no bread? Perceive you not yet, neither understand? Have you your heart yet hardened?.**” (Mark 8:17)

**Hidden Manah:** Gematria 14.587 = 29 x 503. The spiritual meaning is **Holy One (29) Saints Snared (503)**.

The Text says ‘**Jesus knew it**’. Here is the mystery solved! God has the answer. Do not reason among yourselves, ask the **Holy One (29)**. Is our God stupid? Is our God so dumb that he cannot speak? As believers we hasten into the presence of our God with every matter however small. God is not an idol such as the pagans worship – that cannot speak, that cannot know. We serve the living God.

Here are the apostles sitting in the boat reasoning among themselves at the feet of Jesus but ignoring Him. Too arrogant in their own minds to come to Jesus and meekly say ‘Master, please help us understand.’

The Text says ‘**Why reason you because you have no bread?**’ Simply put, Jesus is saying: ‘you’re wrong’.

The Text says ‘**Perceive you not yet, neither understand? Have you your heart yet hardened?**’ Jesus is saying in the Last Days believers will not understand the mysteries of the gospel. Their heart will be hardened by listening to human teachers who promote man’s religion. They won’t go to a quiet place of prayer in their closet and approach God directly with their petition and request for enlightenment. Instead believers will go to mass meetings where priests appointed by man’s religion offer incense and stock prayers.

Man’s religion accomplishes one thing: **Saints Snared (503)**.

**Plain Facts:** “**Having eyes, see not? And having ears, hear not? And do ye not remember?**” (Mark 8:18)

**Hidden Manah:** Gematria 8,574 = 6 x 1,429 [226<sup>th</sup> prime]. The spiritual numbers mean **Flesh (6) Endless Strife (226)**.

In all plainness of truth Jesus tells them: if you will not come to me for wisdom in every matter of your faith and practice, then you will end up resorting to your **Flesh (6): man’s wisdom**. This can only lead to squabbling and disputing over these matters. The result is endless **Strife (226)** in the body of Christ.

The flesh of Man cannot understand spiritual things. Once again, Jesus is trying to help these apostles see they have no wisdom in themselves. Wisdom is found only in God. The Spirit of God reveals this wisdom to our spirits. In this way our hearts are enlightened – spiritual lessons are learned.

Men will go to man-made temples and sit at the feet of men who will teach them man’s rules. Nothing in that exercise is spiritual. Persisting in that ritual will only harden hearts to spiritual truth and lead to divisions.

**Plain Facts:** “**When I broke the five loaves among five thousand, how many baskets full of fragments took you up? They said to him: twelve.**” (Mark 8:19)

**Hidden Manah:** Gematria  $14,026 = 2 \times 7,013$  [902<sup>nd</sup> prime].  $902 = 2 \times 451$ . The spiritual meaning is **Discern (2) the Division (2) of Holy Men Suffer in This Life (451)**.

For those who did not read our paper on Mark 6 we will review. The 5,000 fled the cities after Herod beheaded John the Baptist. The spiritual number 5,000 means Persecution (50) of Holy Flock (100). The apostles personally each collected a basket of dry crusts of bread to store them: twelve baskets. Jesus rebuked the apostles for their unbelief: collecting bread indicated that they did not believe God could supply their needs tomorrow. Jesus tried to explain the difference between spirituality (depending on God) and religion (a scheme of men to pimp God to the people to make money).

The way of Christ is: **Holy Men Suffer in the Life (451)**. The way of religion is to exalt the needs of the holy men, the ministers, above the needs of the poor: **Division (2) of Holy Men Suffer in this Life (451)**. The author saw this principle in a church sermon in which a professional minister implored the congregation with these words: 'Give us your money, so we can pray for the poor'. This turns the Kingdom of God upside down. Instead of being servants the ministers become lords. The poor never receive any gift.

This is a vital lesson for the apostles to learn. If they did not understand that John the Baptist gave up his life for the truth, how would they understand the meaning of the death of Jesus on the Cross? If they did not **Discern (2)** between Religion and Righteousness how could they lead God's people after Jesus?

**Plain Facts:** "**And when the seven among four thousand, how many baskets full of fragments took ye up? And they said: Seven.**" (Mark 8:20)

**Hidden Manah:** Gematria  $11,931 = 123 \times 97$ . The spiritual numbers mean **Devoted to the LORD (123) Fire Burns the Enemies (97)**.

The miracle of the feeding of the 5,000 was prophetic of the persecuted early church in Jerusalem. The feeding of the 4,000 is prophetic of the church in the Last Days when religion has triumphed. The number 4,000 means **Severe Trial (40) of Holy Flock (50)**. The number of baskets of fragments taken up was seven: the spiritual number seven means **The End (7)**. The triumph of religion is the end of the free people of God. Religion is a bondage. {The word 'religion' comes from a Latin word '*religare*' which means 'tie down'.}

Why would anyone follow Christ on the path of **Holy Men Suffer in this Life (451)**? Why wouldn't people follow religion and enjoy all the benefits? This is the heart of what Jesus is trying to teach these apostles: it is better to be **Devoted to the LORD (123)** and suffer in this life, than to enjoy the pleasures of this life for a season and in the next life suffer **Fire Burns the Enemies (97)**.

As far as benefits are concerned the religious man is dull in his heart. The man of faith is rich in his heart with the riches that will last unto eternal life. His suffering builds up for him treasure in heaven.

In order to follow Jesus the apostles would need faith. At this point in their journey they did not have it and could not even understand the basics of the Kingdom of God.

**Plain Facts:** “**And he said unto them: How is it that ye do not understand?**” (Mark 8:21)

**Hidden Manah:** Gematria 3,630 = 15 x 242. The spiritual numbers mean **Covenant (15) Saints Go to Heaven (242)**. This is the message: the suffering of the saints on this earth is not worthy to compare to our reward in heaven. Furthermore, unless God has servants on earth willing to suffer, to forsake religion in all its forms, the gospel will not be preached, souls will not be saved. Religion is like a hideous disease. It silently grows stronger until it completely dulls the heart and all spiritual sensitivity. These Jewish men could not understand Jesus because their own spiritual upbringing was within a religious system. Their hearts were so dull! Even in the presence of Jesus and all these miracles they could not understand what he was saying.

### **THE REMNANT: THOSE OUTSIDE RELIGION KNOW THE TRUTH**

The LORD Jesus has the divine perspective on all things. He can sit on his throne and observe everything going on in the universe and form a detached true judgement. Everything Jesus teaches us is reliable.

The ministry of Jesus from his baptism in the waters of Jordan to his crucifixion took place on the fringes of society. Jesus spent most of his time in the wilderness with his apostles. Occasionally he would pass through a town. But Jesus did not put down roots. Jesus did not designate a building as his holy place. Jesus was a stranger and alien in the land. From his detached perspective Jesus could see what was happening in the Holy Land and tell the truth.

The life of the Christian is meant to be like Jesus. We are not called to pledge oaths and join religious societies. We are not called to be loyal to a building or to a ministry or even to a catechism [statement of faith]. We are called to be free, under the direction of the Holy Spirit to go and to do and to say whatever the Father wishes. Our position as outsiders from man's religion and worldly affairs sets us up to be able to offer a genuine unbiased perspective: to speak prophetically concerning events going on around us.

Outwardly the life of a holy man is a life of suffering. But inwardly it is the life of great spiritual blessing.

**Plain Facts:** “**And he cometh to Bethsaida; and they bring a blind man unto him, and besought him to touch him.**” (Mark 8:22)

**Hidden Manah:** Gematria 9,796 = 79 x 124. The spiritual numbers mean **Martyrs (79) Deadly Trap Escaped (124)**.

Bethsaida means ‘house of fish’. It was a small fishing village at the top of the Sea of Galilee near where the Jordan River empties. Bethsaida was the home town of Peter, John, Philip, and Andrew.

After a period of time, Jesus returns to the place where he first called some of the apostles to follow him. Figuratively what we are seeing is the visitation of Jesus to the church after a period of time. With the context

of this chapter being the feeding of the 4,000 we can be more precise: the picture is of Christ returning to see the condition of the church in the Last Days.

What Jesus finds there is a man in that village who beseeches to touch him: **Martyr (79)**. However, the man has become blind from the long term effects of exposure to religion.

In Mark 6 we read the account of Jesus in Nazareth. His own people rejected him and the unbelief there was so great Jesus could only put his hands on a few sick people. The situation for the fishermen following Jesus was must have been the same in their hometown: scorn and unbelief.

Jesus heals the blind man. But first He must take him out of the poisonous pot of unbelief in Bethsaida: **Deadly Trap Escaped (124)**.

**Plain Facts:** “**And he took the blind man by the hand, and led him out of the town; and when he had spit on his eyes, and put his hands upon him, he asked him if he saw anything.**” (Mark 8:23)

**Hidden Manah:** Gematria 17,124 = 12 x 1,427 [225<sup>th</sup> prime]. The spiritual numbers mean **Government (12) Unholy Alliance (225)**.

The blind man needed healing. He would not be healed so long as he dwelled in Bethsaida: **Unholy Alliance (225)**. Have you ever witnessed an institutional church holding prayer meetings for the sick? Why does the Lord not answer those prayers? Has it never occurred to people that being part of religion brings sickness?

All sickness comes from sin. The sick person is not always guilty of a personal sin. There could be a corporate sin that needs to be repented. This is the teaching of the New Testament:

**‘For this cause many are weak and sickly among you, and many sleep.’** (1 Cor. 11:30).

The church of Corinth was beset by many sins. For this reason there were many weak and sickly people there.

Jesus led the blind man by the hand: **Government (12)**. Here is the core of the sin of religion pin-pointed: religion puts men in a place where they obey someone/something other than the LORD. Religion is idolatry.

Jesus did not try to bring a revival to Behsaida. Jesus did not even preach to the Bethsaidans of their sin. These are the Last Days. The church has become so religious and dull of heart it is beyond saving. The only salvation possible is to take those who have faith out of the religion.

**Plain Facts:** “**And he looked up, and said, I see men as trees, walking.**” (Mark 8:24)

**Hidden Manah:** Gematria 7,427 = 7 x 1,061 [178<sup>th</sup> prime]. The spiritual numbers mean **The End (7) Two Witnesses (178)**.

Here is the real miracle: once the believer is outside the religion he sees it for what it is. The man looks and sees **‘men as trees, walking around’**. This is the curse of religion: it elevates some men above the heads of

the rest. The religious leaders had become like giants – larger than life humans – evoking awe in the hearts of devotees. The exalted ruler trees offered shade to suffering souls. But those souls who sought shelter did not find what they expected. They found darkness – they become cut off from the Holy Spirit and could not find their way back out. In the Last Days religion will be a thick forest. It will be almost impossible, but for the grace of God, for a believer to ever find their way out of religion.

The gematria says: **The End (7) of Two Witnesses (178)**. In the divine administration of God's holy people through all the ages, there were always priests and prophets in the flock of God. The priests made offerings to the LORD. In the Age of Grace the priests are the believers. Each and every believer is a priest – capable of praying directly to God without having to go through an intermediary appointed by a religion. Every priest has an inner witness of the Holy Spirit – distinguishing right from wrong.

God also supplied prophets to be watchmen over the flock and to warn the people of sin and judgment. Religion excludes prophets. Religion has an interpretation of every issue which it dictates to the people to believe. Adherents do not need Bibles because the clergy tells them what to believe.

Both witnesses of God are driven out of the house by religion: the inner witness of the Holy Spirit and the outer witness of the Holy Spirit speaking through prophets among the people. Without either of these witnesses there is no way out of religion therefore there is no healing for its sicknesses.

**Plain Facts:** “**After that he put his hands again upon his eyes, and made him look up: and he was restored, and saw every man clearly.**” (Mark 8:25)

**Hidden Manah:** Gematria  $11,906 = 2 \times 5,953$  [781<sup>st</sup> prime]  $781 = 71 \times 11$ . The spiritual numbers mean **Divide (2) the Blind (11) Judge (71)**. [Isn't gematria simply amazing?]

Jeremiah chapter 36 is the 781<sup>st</sup> book in the Bible. In that chapter Jeremiah writes all the words of his prophecy on a scroll and has it read to the people of Jerusalem and Judah on a day of fasting. Some officials of King Jehoiakim hear of it and call for the scroll to be read to them. When they hear of God's judgment coming upon Jerusalem and Judah for her sins they are afraid. They tell the King who requests the scroll be read to him. But as the scroll is read to the King snips those pieces and throws them in the fire. The King shows no fear of God but commands that Jeremiah be captured. Jehoiakim is the **Blind (11) Judge (71)**.

This is a picture of the church in the Last Days. God presented the church with a perfect and complete Bible: a scroll of the revelation of Jesus Christ: also the promise of judgment if the people of God turn back to vain religion. Over time the institutional church snipped bits and pieces of the truth out of the Bible. The human rulers (kings) of the church took pieces of God's truth out to establish their own authority in the minds of the people. In the end there was no truth of God left: only threats against the prophets.

The Blind Man sees when Christ puts his hands upon his eyes and made him look up. We assume the Blind Man was on his knees therefore when he looked up he saw the face of Jesus. A person attempting to flee

religion does not have an easy road. They have very little of God's truth to guide them because it has been snipped out by the lords of religion. The only salvation is for them to look to God for healing; not man. By God's grace when they see Jesus' face, their sight will be restored.

**Plain Facts:** "And he sent him away to his house, saying: Neither go into the town, nor tell it to any in the town." (Mark 8:26)

**Hidden Manah:** Gematria  $8,468 = 146 \times 58$ . The spiritual numbers mean **Free of All Bonds (146) Worldly Life (58)**.

The blind man had a sickness; his physical body was in bondage to the curse of sin. Jesus healed him. His physical body was released from bondage to sin. He was: **Free of All Bonds (146)**.

Spiritually there was another healing: the blind man saw the face of Jesus. He was reborn to newness of spiritual life, a face-to-face person-to-person relationship with God. Of course, there could be no going back to Bethsaida: **Worldly Life (58)**. Those people sneered at Jesus and his disciples.

Jesus sent him away to his house. The healed man has a new body, now he must live a new life. It was living in the sinful town of Bethsaida (religion of man) that made him blind. Now he sees he must leave those sinners and never return. Religion is a spiritual bondage. Now the healed man is: **Free of All Bonds (146)**.

In the Last Days there will be gigantic religious organizations of men of all descriptions on earth. Like great trees walking around. Religion will resist the Holy Spirit and so sickness and blindness will spread. There will be a few who want to 'touch' Jesus, who want to be in fellowship with Him. To those Jesus says 'Open your eyes and see.' But once they see he steers them away from religious assemblies: don't even talk to them.

### **THE REMNANT: TOLD TO GO UNDERGROUND**

It is hard to imagine that in the world today there could be so many hundreds of millions of people who attend so-called Christian churches, but so few who believe. In the Last Days religion will smother the faith.

Under these circumstances, Jesus gives instructions to believers to meet in secret and to worship in secret. This seems like a contradiction to his instructions that the church should be a light to the world and not hidden under a bushel. The problem is in the Last Days the world is in the church. Prior to His coming there will be false prophets and false brethren. Those who are in the faith must take precautions to keep the faith.

**Plain Facts:** "And Jesus went out, and his disciples, into the towns of Caesarea Philippi: and by the way he asked his disciples, saying unto them: Who do men say that I am?" (Mark 8:27)

**Hidden Manah:** Gematria  $16,421 [1,903^{\text{rd}} \text{ prime}] 1,903 = 173 \times 11$ . The spiritual numbers mean **Great Battle (173) Darkness (11)**.

From our study in Mark 6 we learned the typology to understand Mark 8: John the Baptist (the prophets); Herod (the secular ruler of the land but also the head of its religion<sup>5</sup>); Herodias (the religion, married to Herod, also married to Philip); Herodias' daughter (the great deception); Philip (the Devil: the husband of Herodias).

Therefore, when it says '**And Jesus went out, and his disciples, into the towns of Caesarea Philippi**' it means in the Last Days the towns, the spiritual communities of the faith, will be under the lordship of Philip, who represents the Devil. The religious system will keep the people in **Darkness (11)**. Their loyalty will always be to their religion and to the spiritual powers that control it. To be religious means bowing to the Devil.

When Jesus and his disciples go into these towns, it is inevitable there will be a **Great Battle (173)** between the Kingdom of Light and the Kingdom of Darkness. The battle will be over this question: "**Who do men say that I am?**" Or, to put it another way: 'Who is Lord?'

**Plain Facts:** "**And they answered: John the Baptist: but some say: Elias; and others: One of the prophets.**" (Mark 8:28)

**Hidden Manah:** Gematria 6,448 = 31 x 208. The spiritual numbers mean **Family (31) Loss of Faith (208)**.

Religions always boast about something: they accept the Ten Commandments, they do good works in the community, they teach their children to be law abiding, they give to the poor, and so on. These may be wonderful things, but they obscure the main issue of personal faith: who is Jesus?

In the Last Days people who belong to religions will not possess personal faith: a face-to-face relationship with God like the healed blind man. They will only possess whatever head knowledge the religion tells them to believe about the identity of the Christ: he was a prophet or something else.

The spiritual numbers say this will even be true in the so-called 'Christian church' religions: **Family (31)**. They will also be plagued with unbelief: **Loss of Faith (208)**.

**Plain Facts:** "**And he said to them: But who say ye that I am? And Peter answered and said to him: Thou art the Christ.**" (Mark 8:29)

**Hidden Manah:** Gematria 8,598 = 6 x 1,433 [227<sup>th</sup> prime]. The spiritual numbers mean **Flesh (6) of Man (6) Blind to Betrayal (227)**.

Christ is asking this question of his disciples. But isn't the practice of religion also asking the same question? To be religious means to make a show in the flesh. How often do you attend services? How much money do

---

<sup>5</sup> Historically Herod controlled the Jewish religion by appointing the High Priests of the Jews. This is exactly the same as modern professional clergy systems where influential men in the religion appoint priests that do not stray far from their bidding. In the Christian faith all believers are priests and Jesus is our perpetual High Priest. Any deviation from this is a great Satanic deception.

you give to support the building and the hireling? By performing religious rituals the flesh believes it is satisfying the requirements of God. But devotion to religion is a deception: **Flesh (6) Blind to Betrayal (227)**.

When people submit to religious rules for their flesh: taste this, don't taste that; touch this, don't touch that; people are announcing to the spiritual witnesses (angels and demons) that religion is their god. Unknown to them, they are pronouncing judgment on their own souls by confessing with their lives: 'Jesus is not Lord'

The gematria of the phrase 'Thou art the Christ' is enlightening:

Thou	σου	600	ARMED FORCE	615	5	123 DEVOTED TO THE LORD
art	ει	15	COVENANT			
the	ο	70	ELDER(S)	1550	5	310 KEEP THE FAITH
Christ	χριστος	1480	10 148 ELECT OF GOD			

When we confess 'Jesus is Lord' or 'Jesus is the Christ' we making the Good Confession: **Life (5) Devoted to the LORD (123)** and **Life (5) Keep the Faith (310)**.

This faith, this belief, is what purifies our souls in the love of God. The true Christian will never love religion: his love is given to another, the One who shed his blood to cleanse his soul from sin.

The Christian does not need to memorize the Ten Commandments. A person who is filled with the love of God would never break one of those commandments. Jesus kept those commandments. If we are following Jesus then we will not break them either. Religion is useless for a born again Christian.

**Plain Facts:** "And he charged them that they should tell no man of him." (Mark 8:30)

**Hidden Manah:** Gematria 4,307 = 59 x 73. The spiritual numbers mean **Rich Oppressor (59) Bablyon (73)**.

If you could testify of faith in Jesus Christ to the Devil, would he have a change of heart? Obviously not. Then why would you testify of faith in Christ to the children of the Devil? It would be foolish to do so and only provoke a hostile response. Religious people are the children of the Devil. There are not seekers of God, they are blood-thirsty religious zealots. Don't look at the sticker on the window. All religions are the same.

These are the Last Days. The Gentiles have had their chance to hear the witness of soul saving faith in Christ. Religions now war with religions. None of the acolytes of a religious tribe is about to change their belief. The battle is about control of land, taxes, and people. The world is divided into the fiefdoms of the very rich and their alliances with religious elites. They wage a war of total conquest against one another.

This is the time for the Remnant of God to go underground. The winter has come, the season for sowing and reaping is past. It is time for the disciples to focus on keeping the faith rather than expanding the faith. Outside the hearts of men are hard. Violence is everywhere. Religions are at war with religions. They do not have ears to hear or eyes to see. The saint of God with his precious faith is a threat to the oppressive rule of the rich and their religions. These are the days of Noah again: war, violence, brother killing brother.

## **THE REMNANT: MARTYRDOM IS COMING**

Jesus understood the times. The Jewish people, his own blood and kin, were going to reject him and kill him. This would happen in Jerusalem. Jesus already knew the day and the hour he would die a martyr.

Jesus began to prepare his disciples for his passing and see the significance of it in the light of prophecy and the will of God. The same message also comes down to us at the end of the Age of Grace. We are now in the 'days of Jesus'. People close to us will kill us because we will not pledge loyalty to their religion.

They will interpret rejection of their religion as treason to the secular government. This is possible because secular government and religion will be joined in an unholy alliance. It will be different in different places. In the West the Christian will not accept atheism, the state religion. In the East, the Christian will not accept Islam, the state religion. It doesn't matter what religion: free Christians don't fit into a world where people are slaves to all powerful rulers and zealous religious elites. So we must be eliminated.

**Plain Facts:** "And he began to teach them, that the Son of man must suffer many things, and be rejected of the elders, and of the chief priests, and scribes, and be killed, and after three days rise again." (Mark 8:31)

**Hidden Manah:** Gematria 15,859 [1,848<sup>th</sup> prime] 1,848 = 21 x 88. The spiritual numbers mean **Lawlessness (21) Righteous Afflicted (88)**. Or it can be written as 24 x 77 which means **Priest (24) and False Prophet (77)**.

Why was Jesus put to death? He did no wrong, **Righteous Afflicted (88)**, but he made the confession: 'Jesus is Messiah'. The religious ruler of his day, **False Prophet (77)**, determined this to be blasphemy because He made Himself equal with God. By raising Jesus from the dead God vindicated the confession of Jesus and that is how we know the martyrdom of Jesus was unjustified: **Lawlessness (21)**.

The Christian believer, **Priest (24)**, makes the same confession: 'Jesus is the Messiah'. For this we will be put to death: we believe Jesus is equal to God. To followers of monotheistic faiths: Islam and Judaism, the belief that Jesus is equal to God is blasphemous polytheism. However, Christians believe, in accordance with the teaching of Hebrew Scriptures, that God is three persons in one God-head. Each person of the Trinity is distinct but possesses all the divine attributes as the others in the Trinity<sup>6</sup>. [NB: Mary is not one of them!]

Mark 8 has been instructing us that in the Last Days all people on earth will divide into ultra-religious camps, including zealous atheists, who will align with world powers and fight one another. Christians will take a non-aligned stance that will be crushed in the violence and warfare of the 'giant trees walking about'.

This is the destiny of the Remnant in the Last Days. We cannot understate the agony and the chaos of the days to come. However, the martyrdom of the believers in Christ will be a glorious testimony for all eternity. The martyrs may lose their life on earth but will gain a great reward in the Kingdom of God forever.

<sup>6</sup> For a wonderful presentation on the Trinity we recommend the reader watch the four video links on Page 70 HISTORY on the Nicene Creed. Even today many Christians do not appreciate this supreme mystery which the church pondered for centuries.

**Plain Facts:** “**And he spoke that saying openly. And Peter took him and began to rebuke him.**” (Mark 8:32)

**Hidden Manah:** Gematria 6,416 = 16 x 401. The spiritual numbers mean **Sacrifice (16) O LORD Save Us! (401)**.

What was really at the heart of Peter’s rebuke? Peter had just made the great confession himself: ‘Thou art the Christ’. Peter was looking to be part of a kingdom of this world. According to his belief Messiah will one day rule over the whole earth. He had put all his eggs in the Jesus basket and now Jesus was saying he was going to die. Peter wasn’t listening to the part about rising from the dead. Jesus lost him at the ‘Son of Man must suffer’ part. We have to be a little forgiving of Peter – we know much more than he did.

Nevertheless, in the Last Days there will be sharp debate among the household of faith about dying for Christ. Some will argue our life is precious to God and he will forgive us if we deny him publically even if we believe in him privately: **O LORD Save Us! (401)** Others will argue that to die a martyr is the greatest possible honor we can pay to God: **Sacrifice (16)**. Each one will have to make the decision for himself.

**Plain Facts:** “**But when he had turned about and looked on his disciples, he rebuked Peter, saying: Get thee behind me, Satan; for your thoughts are not the things of God, but the things that of men.**” (Mark 8:33)

**Hidden Manah:** Gematria 18,486 = 79 x 234. The spiritual numbers mean **Martyr (79) Turn to Man for Rescue (234)**.

What does it mean to be a Christian? What does God ask of us? The thing God asks of us is to have faith – to believe his words. A **Martyr (79)** is simply a person who puts his belief in God’s words into practice. If God says we will be raised from the dead to an afterlife that is heavenly – that is good enough for the martyr. When faced with this dilemma in the Last Days our faith will be put to the test. If we have weak faith – we will be troubled to make this decision: **Turn to Man for Rescue (234)**.

Saints who want to be rich in faith devote themselves to the things of God. They read their Bibles daily. They pray. They won’t be chasing after the world’s thoughts and the world’s distractions. They know those things are vain and futile. The Bible tells them so. Over time their faith will be proven in their own lives. Death will be for them simply the last step in a long series of steps of faith.

**Plain Facts:** “**And when he had called the people unto him with his disciples also, he said unto them, Whosoever will come after me, let him deny himself, and take up his cross, and follow me.**” (Mark 8:34)

**Hidden Manah:** Gematria 17,149 = 11 x 1,559 [246<sup>th</sup> prime]. The spiritual numbers mean **Darkness (11) False Messiah Rules (246)**.

When Jesus says ‘take up his Cross’ he does not mean ‘sacrifice your worldly ambition and serve the LORD’. The gematria describe the Last Days of **Darkness (11)** when deluded men believe a Messiah has come or is

coming that is someone other than Jesus: **False Messiah Rules (246)**. During these last hours souls who are faithful to Jesus of Nazareth will die: 'take up their Cross'. They will follow Jesus into the next life.

### **THE APOSTATES – JESUS WILL NOT HONOR YOU**

When the martyrs for the LORD have all died for their faith there will be a crowd left over. Everyone in that crowd will publically renounce Jesus. However, some in that crowd will privately believe in Jesus but just not have sufficient faith to confess him and endure the penalty.

The Bible is explicit: that even if we fail to make the good confession on pain of our life God will not forsake us. Paul make this clear:

***"It is a faithful saying:***

***For if we be dead with *him*, we shall also live with him:***

***If we suffer, we shall also reign with *him*:***

***if we deny *him*, he also will deny us:***

***If we believe not, yet he abides faithful: he cannot deny himself."*** (2 Tim. 2:11-13)

Here is the bottom line: the saints who suffer for their faith will reign with Christ. The saints who deny Christ will save their life, even holding on to everlasting life, but they will not reign with Christ in the Promised Land.

In Heaven there will be differences between saints. Paul says just as star differs from star in glory, so will we. Some will be magnificent and shout out God's glory. Others will be barely visible to the naked eye.

Victorious saints will return with Christ to earth to reign with him in the Millennium. Saints who denied Christ will stay in their heavenly habitation and miss the memories and the experience of the renewal of the earth.

**Plain Facts:** ***"For whosoever will save his life shall lose it; but whosoever shall lose his life for my sake and the gospel's, the same shall save it."*** (Mark 8:35)

**Hidden Manah:** Gematria 15,553 = 103 x 151. The spiritual numbers mean **Image of God (103) Man's Possessions (151)**.

This gematria is truly remarkable. Add up the 110 Greek letters in verse 35 and you get a sum of 15,553. Factor that and you get 103 x 151. The hidden manah fits the plain words so appropriately. If a person won't make the good confession that Jesus is Messiah then he is saying his life, **Image of God (103)**, is his own possession to do with as he so wishes: **Man's Possessions (151)**. But is that true? Every human is knitted in the womb by God and given the gift of life by the breath of God. We are God's creation. Therefore we are God's possession. To take our life back from God is the very rebellion the gospel is supposed to cure.

Once again, we see an emphasis in this discussion between saving life and losing life. At the Last Days it will be just that: a life or death decision to honor the Lord Jesus.

**Plain Facts:** “**For what shall it profit a man, if he shall gain the whole world, and lose his own soul?**” (Mark 8:36)

**Hidden Manah:** Gematria 8,843 = 37 x 239. The spiritual number means **Chosen Servant (37) God’s Spirit Fills a New Prophet (239)**.

The Greek word translated ‘soul’ in English is ‘**ψυχη**’ {ph-oo-ch-ay} which has the root meaning ‘breath’. The Strong’s definition is the soul is: *‘an essence which differs from the body and is not dissolved by death (distinguished from other parts of the body)’*.

If the soul is the part of a being that is not extinguished by death, how one ‘**lose his own soul**’ as Jesus says? The clue for the answer is in the gematria. The Holy Spirit is at work to woo sinners to confess their sins: to recognize Jesus is righteous and they are not. If a person seeks self-glorification and self-edification, as would be the case of someone aspiring to ‘gain the whole world’, then that one will never come to the point of self-abasement, which is where they need to be to see the righteousness of Christ.

When a person abases themselves and sees the righteousness of Christ above all others, a wonderful thing happens: **God’s Spirit Fills a New Prophet (239)**. The individual’s sin is forgiven and they receive the gift of the Holy Spirit which guarantees eternal life. If a person exalts themselves, then they put their righteousness above that of Jesus, they appoint themselves to be: **Chosen Servant (37)**.

As Chosen Servant they will be judged and found to have sin. The penalty of death will be pronounced and that soul will suffer eternal judgement: it will perish.

Conversely, the soul that has humbled itself before the righteousness of Christ, it will obtain eternal life. How could a brief time of glory on earth compare with that? Having attained life, would we now disown it? Never.

**Plain Facts:** “**Or what shall a man give in exchange for his soul?**” (Mark 8:37)

**Hidden Manah:** Gematria 6,691 [863<sup>rd</sup> prime]; 863 [150<sup>th</sup> prime]. The spiritual numbers mean **Curse on Evil Sons (150)**.

Religion is based on the false premise that we can give something to God that will please him sufficiently to save our souls. The world over people do things to gain God’s favor: they recite the rosary, they walk up the stone steps of cathedrals on their knees, some even flail themselves and draw blood. All this is occult.

God is not impressed with any works of the flesh. It is a false hope to believe otherwise. People want to believe there is a religious solution to their sin predicament. But whatever set of rules and regulations a religion establishes only serves to keep sinners more deeply trapped in sin and unbelief. The religious believe these rules will save them but the result is exactly the opposite: **Curse on Evil Sons (150)**.

In the Last Days the world will be full of religious people. Many of them will be apostate Christians. So long as they believe 'good works' will gain God's favor they will never believe the gospel and be saved.

**Plain Facts:** "Whosoever therefore shall be ashamed of me and of my words in this adulterous and sinful generation; of him also shall the Son of man be ashamed, when he cometh in the glory of his Father with the holy angels." (Mark 8:38)

**Hidden Manah:** Gematria 22,867 = 13 x 1,759 [274<sup>th</sup> prime]. The spiritual numbers mean **Rebellion (13) Everlasting Throne of David (274)**.

Jesus is even now sitting at the right hand of the Father in Heaven: **Throne of David (274)**. He is watching the whole earth to see who believes in Him, who acknowledges His righteousness, and who does not. Believers he will rescue and unbelievers He will destroy when he comes in the glory of the Father with the holy angels.

Religion is the worldly imitation of the Kingdom of Heaven: **Rebellion (13)**. Every religion has a spiritual supreme throne and the one seated upon it is the Devil, or his appointee. The members of a religious order believe they are worshiping God, but they are in fact slaves worshiping the Devil, who is the task master over them. By keeping the rules of their religion they vainly try to please their false god.

In the days of Jesus there were many religious Jews. Jesus called them an '**adulterous and sinful generation**'. Law keeping only proves we are sinful. Law keeping cannot take away sin. Joining a religion only pools your sinfulness with the sinfulness of others. Whiten your sepulchres if you will, but inside are dead men's bones.

The only solution for a sinner is to recognize the perfection of the life of Jesus Christ. If the reader is in doubt of his sin, please go to the nearest lake and walk across it. When a storm rises up – please command the storm to be still. If you cannot even do those simple things how will you save your soul from hell?

**APPENDIX – GEMATRIA OF ALL VERSES OF MARK 8**

<b>v1</b>	<b>Words 20 Letters 109</b>	<b>Total =</b>	<b>13434</b>	<b>2 * 3 * 2239 [333]</b>	<b>6 MAN: Flesh</b>	<b>333 SIGN OF GOD</b>
		<b>Original Text</b>				
		<b>Greek</b>	<b>Value</b>			
In	εν	55	RESIST TRUTH	356	NATIONS DEFEATED IN BATTLE	
those	εκειναις	301	KING PILES UP WEALTH			
the	ταις	511	WAIT IN HOPE	875	5	175 MARRIAGE VIOLATION
days	ημεραις	364	TREASURES OF GOD LOCKED UP			
very great	παμπολλα	801	9 89 SON OF DAVID	1971	27	73 BABYLON: World Rule
the multitude	οχλου	1170	10 117 RELIGIOUS BUT UN-REDEEMED			
being	οντος	690	10 69 KILLING BELIEVERS	721	7	103 IMAGE OF GOD: WORD OF GOD
and	και	31	FAMILY			
nothing	μη	48	FATHER'S BLESSING	1923	3	641 [116] PRAYER OF CONFESSION
having	εχοντων	1875	5 375 BOUND TO TRADITIONS OF MEN			
that	τι	310	KEEP THE FAITH	1824	4	456 WICKED WILL PERISH FOREVER
they might eat	φαγωσι	1514	2 757 [134] COMPLAINING			
having called	προσκαλε	1072	4 268 BLOOD OF SAINTS PRECIOUS	1142	2	571 [105] PRAYER OF CONFESSION
the	ο	70	ELDER(S)			
Jesus	ιησους	888	8 111 FEAR OF THE LORD	1858	2	929 [158] FEAR OF DEATH
to the	τους	970	10 97 FIRE BURNS ENEMIES			
disciples	μαθητας	559	13 43 HUMILIATION	1730	10	173 GREAT BATTLE
of him	αυτου	1171	[193] GREAT CITY FALLS			
he says	λεγει	53	FAITHFUL WITNESS	1034	2	517 MAN'S LIFE EBBS AWAY
to them	αυτοις	981	9 109 DEFENDER OF THE POOR			

<b>v2</b>	<b>Words 15 Letters 75</b>	<b>Total =</b>	<b>8781</b>	<b>3 * 2927 [423]</b>	<b>3 BINDING: GOD, Spirit, Truth</b>	<b>423 MINISTERS OF GOD</b>
		<b>Original Text</b>				
		<b>Greek</b>	<b>Value</b>			
I have compassion	σπλαγχνα	1102	2 551 19 29 HOLY ONE			
on	επι	95	VOICE OF GOD	1617	49	33 SCATTERED REMNANT
the	τον	420	RULE OF MAN			
multitude	οχλον	820	10 82 THRONE OF GOD			
because	οτι	380	PRIESTS CAST OUT	1220	10	122 CITY OF PEACE
now	ηδη	20	DISTRESS			
days	ημερας	354	MAKE A RELIGIOUS SHOW			
three	τρεις	615	5 123 DEVOTED TO THE LORD	2194	2	1097 [184] BELIEVERS' SLEEP
they continue	προσμενω	1225	5 245 KILLS PROPHETS			
with me	μοι	120	MAN OF PEACE			
and	και	31	FAMILY	641	[116]	PRAYER OF CONFESSION
nothing	ουκ	490	EVERY BOASTFUL MOUTH SHUT			
have	εχουσι	1285	5 257 WORSHIP IS AN ABOMINATION			
that	τι	310	KEEP THE FAITH	3109	[443]	GOD OPPRESSES THE WEAK
they might eat	φαγωσι	1514	2 757 [134] COMPLAINING			

v3	Words 17 Letters 86	Total =	10912	2 * 2 * 2 * 2 * 2 * 11 * 31		
		Original Text	32	341	REMNANT IS WEAK	
		Greek	Value			
And	και	31	FAMILY			
if	εαν	56	HARD HEART			
I shall send away	απολυσω	1581	31 51 PRAISE			
them	αυτους	1371	3 457 WICKED ARE CARELESS OF GOD	5798	13	446 GOD IS PLEASED WHEN WE SUFFER
fasting (hungry)	νηστεις	773	[137] QUARRELING			
to	εις	215	COURAGE TO FIGHT GONE			
houses	οικον	220	THIRST FOR VENGEANCE			
of them	αυτων	1551	47 33 SCATTERED REMNANT			
they will faint	εκλυθησο	1103	[185] CROOKED GENERATION			
on	εν	55	RESIST TRUTH			
the	τηι	318	SELF SERVING SERVANT			
way	οδωι	884	4 221 GOD FORSAKES THEM			
some	τινες	565	5 113 RAPTURE OF SAINTS	5114	2	2557 [375] BOUND TO TRADITIONS OF MEN
indeed	γαρ	104	WORKERS DIVIDED			
of them	αυτων	1551	47 33 SCATTERED REMNANT			
from far	μακροθεν	295	HEAVY TAXES			
are come	ηκασι	239	GOD'S SPIRIT FILLS A NEW PROPHET			

v4	Words 15 Letters 82	Total =	10879	11 * 23 * 43	43	HUMILIATION	253	SPIRITUAL BATTLE
		Original Text			23	DEATH	473	THE LORD THUNDERS
		Greek	Value					
And	και	31	FAMILY					
answered	απεκριθη	484	TORMENT THE RIGHTEOUS	2026	2	1013 [170] GRAVEN IMAGE		
him	αυτωι	1511	[240] HOLY THINGS LOST					
the	οι	80	PRAYER: Son of Man					
disciples	μαθηται	369	HOST OF EVIL ANGELS	1620	20	81 HOLY ANGELS		
of him	αυτου	1171	[193] GREAT CITY FALLS					
From whence	ποθεν	214	GOD'S WORSHIP INSINCERE					
these	τουτους	1740	10 174 INNOCENT DEATH	2932	4	733 [130] ACCUSATION		
is the power	δυνησεται	978	2 489 RAIN OF FIERY SULFUR FALLS					
anyone	τις	510	THE LORD FORGIVES ME					
here	ωδε	809	[140] EVIL SCHEMES	2601	2	1301 [212] GOD'S COMMANDS FORSAKEN		
to satisfy	χορτασαι	1282	2 641 [116] PRAYER OF CONFESSION					
with bread	αρτων	1251	9 139 SORCERY / CONTROL					
in	επ	85	HOLY COMMUNION	1700	10	170 GRAVEN IMAGE		
the wilderness?	ερημιας	364	TREASURES OF GOD LOCKED UP					

v5 Words 10 Letters 46 Total = 6392 2 \* 2 \* 2 \* 17 \* 47 17 VICTOR 376 FLATTERY OF THE KING

	Original Text	Greek	Value			
And	και	31	FAMILY	1325	53	25 PAYMENT FOR SIN
he asked	επηρωτα	1294	2 647 [118] JEWS FOLLOW JESUS	3716	4	929 [158] FEAR OF DEATH
them,	αυτους	1371	3 457 WICKED ARE CARELESS OF GOD	2391	3	797 [139] SORCERY / CONTROL
How many	ποσους	1020	4 255 PROPHET SHAMEFULLY NAKED	4377	3	1459 [232] REPULSIVE PEOPLE
have ye?	εχετε	915	5 183 DEADLY BLOW	1986	6	331 THE LORD IS MY STRENGTH
loaves	αρτους	1071	17 63 GOD'S WRATH	2075	25	83 NATIONS WHO HATE GOD
Behold!	οι	80	PRAYER: Son of Man	89		SON OF DAVID
And	δε	9	JUDGMENT	690	10	69 KILLING BELIEVERS
they said,	ειπον	215	COURAGE TO FIGHT GONE	601	[110]	DAY OF WRATH
Seven.	επτα	386	ALLY WITH WICKED			

v6 Words 26 Letters 137 Total = 16820 2 \* 2 \* 5 \* 29 \* 29 58 WORLDLY LIFE 290 HOLY ONE OF ISRAEL

	Original Text	Greek	Value			
And	και	31	FAMILY	326		SORROW TURNS TO JOY
he commanded	παρηγγει	295	HEAVY TAXES	2620	10	262 RIVALS REFUSE TO RECONCILE
the	τωι	1110	10 111 FEAR OF THE LORD	497		GLORY TO GOD IN THE HIGHEST
multitude	οχλωι	1510	10 151 MAN'S POSSESSIONS	719	[128]	BLESSED ONES
to sit down	αναπεσει	402	LAMENT SLAIN KING	914	2	457 WICKED ARE CARELESS OF GOD
on	επι	95	VOICE OF GOD	1356	4	339 LINE OF FAITH SURVIVES
the	της	508	THE LORD LIFTS ME UP	3096	8	387 DON'T KNOW THE WAY TO GO
the earth (ground)	γης	211	EVERY MAN FOR HIMSELF	292		KING OF KINGS
and	και	31	FAMILY	1073	29	37 CHOSEN SERVANT
he took	λαβων	883	[153] TRIBE OF BELIEVERS	1740	10	174 INNOCENT DEATH
of the	τους	970	10 97 FIRE BURNS ENEMIES	1262	2	631 [115] DEATHLY SILENCE
seven	επτα	386	ALLY WITH WICKED	305		AUTHORITY IS WEAK
loaves	αρτους	1071	17 63 GOD'S WRATH	2620	10	262 RIVALS REFUSE TO RECONCILE
and gave thanks	ευχαριστ	2025	25 81 HOLY ANGELS			
and broke	εκλασε	261	LOWLY SERVANT EXALTED			
and	και	31	FAMILY			
gave	εδιδου	493	PURE IN HEART STAY TRUE			
to the	τους	580	20 29 HOLY ONE			
disciples	μαθηταις	569	[104] WORKERS DIVIDED			
of him	αυτου	1171	[193] GREAT CITY FALLS			
to	ινα	61	KING OF JEWS: MESSIAH			
set before (them)	παραθωσ	1201	[197] RED DRAGON			
and	και	31	FAMILY			
they set before	παρεθηκα	274	EVERLASTING THRONE OF DAVID			
the	τωι	1110	10 111 FEAR OF THE LORD			
multitude.	οχλωι	1510	10 151 MAN'S POSSESSIONS			

v7 Words 10 Letters 53 Total = 3962 2 \* 7 \* 283 14 RIGHTEOUS 283 KING REJECTED

	Original Text	Greek	Value			
And	και	31	FAMILY	766	2	383 TRUE PROPHETS IN PRISON
they had	ειχον	735	5 147 FATHER'S POSSESSION	1148	4	287 UNREPENTANT DIE
small fishes	ιχθυδια	1034	2 517 MAN'S LIFE EBBS AWAY	948	2	474 THE LORD ANSWERS
a few	ολιγα	114	OLD COVENANT RESTORED	367		PLACE OF WORSHIP IS A YOKE
and	και	31	FAMILY	733	[130]	ACCUSATION
he blessed	ευλογησα	917	7 131 CHILDREN OF GOD			
and commanded	ειπε	100	HOLY FLOCK			
to set before	παραθειν	267	MAN OF SORROWS			
also	και	31	FAMILY			
them	αυτα	702	2 351 PUT A HAND ON THE HOLY ONE			

v8 Words 10 Letters 63 Total = 6568 2 \* 2 \* 2 \* 821 [142] 8 HOLY MAN / NEW MAN 142 RASH DECISION

Original Text

Greek	Value				
they ate	εφαγον 629	17	37 CHOSEN SERVANT	638	2 319 UNWILLING TO SACRIFICE
so	δε 9		JUDGMENT		
and	και 31		FAMILY	1575	25 63 GOD'S WRATH
were satisfied	εχορτασθ 1544	4	386 ALLY WITH WICKED		
and	και 31		FAMILY	190	KINGDOM COMES
they took up	ηραν 159		FAITHFUL CHURCH		
over and above	περισσειυ 1342	22	61 KING OF JEWS: MESSIAH	2784	16 174 INNOCENT DEATH
of fragments	κλασματω 1442	14	103 IMAGE OF GOD: WORD OF GOD		
seven	επτα 386		ALLY WITH WICKED	1381	2 691 [125] SURROUNDING PROTECTION
baskets.	σπιριδας 995	5	199 DRAMATIC RESCUE		

v9 Words 9 Letters 49 Total = 6316 2 \* 2 \* 1579 [249] 8 HOLY MAN / NEW MAN 249 JOINED TO NATIONS THAT HATE GOD

Original Text

Greek	Value				
there were	ησαν 259		BELIEVERS HUNTED DOWN		
moreover	δε 9		JUDGMENT	348	DESTROY THE BEAST
behold	οι 80		PRAYER: Son of Man		
they that had eaten	φαγοντες 1129	[189]	SWEAR AN OATH		
about	ως 1000		TRIBE	3795	11 345 SYNAGOGUE OF SATAN
four thousand	τετρακισχ 1666	49	34 MAN'S RELIGION		
and	και 31		FAMILY		
he sent away	απελυσεν 771	3	257 WORSHIP IS AN ABOMINATION	2173	53 41 MAN'S RULE(S)
them	αυτους 1371	3	457 WICKED ARE CARELESS OF GOD		

v10 Words 15 Letters 68 Total = 7845 3 \* 5 \* 523 15 COVENANT 523 SHARP ARROWS PIERCE HEARTS

Original Text

Greek	Value				
And	και 31		FAMILY		
straightway	ευθως 1419	43	33 SCATTERED REMNANT	1698	6 283 KING REJECTED
he entered	εμβας 248		DOOMED TO DIE		
into	εις 215		COURAGE TO FIGHT GONE		
the	το 370		WORSHIP OF ANGELS	895	5 179 POOR HAVE FAITH
ship	πλοιον 310		KEEP THE FAITH		
with	μετα 346		RULERS OVER SPIRITUAL SONS		
the	των 1150	10	115 DEATHLY SILENCE	2704	8 338 SINFUL CITY FALLS
disciples	μαθητων 1208	8	151 MAN'S POSSESSIONS		
of him	αυτου 1171	[193]	JEWISH NATION BELIEVES		
and came	ηλθεν 102		DESTITUTE & ABANDONED	1488	4 372 GLORY OF GOD IS COVERED
into	εις 215		COURAGE TO FIGHT GONE		
the	τα 301		KING PILES UP WEALTH		
area	μερη 153		TRIBE OF BELIEVERS	1060	4 265 NO PLACE TO LAY YOUR HEAD
Dalmanutha	δαλμανου 606	6	101 REBELLIOUS CAST OUT		

v11	Words 17 Letters 97	Total =	11092	2 * 2 * 47 * 59	59	RICH OPPRESSOR	188	GREAT FEAR OF GOD
		Original Text			118	JEWES FOLLOW JESL	94	PROUD HUMBLED
		Greek	Value		47	HUMILITY: Submis	236	HIGH PRIEST ABANDONS FLOCK
And	και	31	FAMILY			263	REFUGEE IN FOREIGN LAND	
came forth	εξηλθον	232	REPULSIVE PEOPLE					
behold!	οι	80	PRAYER: Son of Man		982	2	491	SAINTS SUFFER IN SILENCE
Pharisees	φarisαιο	902	2 451	HOLY MEN SUFFER IN THIS LIFE				
and	και	31	FAMILY		620	20	31	FAMILY
began	ηρξαντο	589	19 31	FAMILY				
to question	συζητειν	980	2 490	EVERY BOASTFUL MOUTH SHUT	2491	53	47	HUMILITY: Submission
with him	αυτωι	1511	[240]	HOLY THINGS LOST				
seeking	ζητουντες	1340	20 67	GENTILES PRAISE GOD				
of	παρ	181	ALIEN RULER		2692	4	673 [122]	CITY OF PEACE
him	αυτου	1171	[193]	GREAT CITY FALLS				
a sign	σημειον	383	TRUE PROPHETS IN PRISON		534			RIGHTEOUS MAN SLANDERED
from	απο	151	MAN'S POSSESSIONS					
of the	του	770	10 77	THE FALSE PROPHET	1861	[284]		ERROR IN JUDGMENT
heaven	ουρανου	1091	[182]	WITNESSES OF GOD DESTROYED				
tempting	πειραζοντ	828	4 207	LOSS OF SAFETY	1649	17	97	FIRE BURNS ENEMIES
him.	αυτον	821	[142]	RASH DECISION				

v12	Words 21 Letters 107	Total =	9872	2 * 2 * 2 * 2 * 617 [113]	113	RAPTUF	16	SACRIFICE
		Original Text						
		Greek	Value					
And	και	31	FAMILY					
he sighed deeply	αναστενα	869	11 79	MARTYRS	2010	10	201	PEACE PACT WITH DEVIL
in his	του	1110	10 111	FEAR OF THE LORD				
spirit	πνευματι	886	2 443	GOD OPPRESSES THE WEAK				
of him	αυτου	1171	[193]	GREAT CITY FALLS	2110	10	211	EVERY MAN FOR HIMSELF
He says	λεγει	53	FAITHFUL WITNESS					
why	τι	310	KEEP THE FAITH					
the	η	8	HOLY MAN / NEW MAN		382			PUBLICLY AFFIRM FAITH IN GOD
generation	γενεα	64	FELLOWSHIP BROKEN					
this	αυτη	709	[127]	SPIRITUAL SONS				
a sign	σημειον	383	TRUE PROPHETS IN PRISON		1517	37	41	MAN'S RULE(S)
seeks?	επιζητει	425	CHOIRS JOYFULLY SING					
Verily	αμην	99	SHEKINAH GLORY OF GOD					
I say	λεγω	838	2 419	SCHEME TO HARM WORKERS	1437	3	479	CLUELESS: EASILY LED ASTRAY
unto you	υμιν	500	ANOINTED ONE					
none	ει	15	COVENANT					
be given	δοθησετα	607	[111]	FEAR OF THE LORD	940	10	94	PROUD HUMBLED
to the	τηι	318	SELF SERVING SERVANT					
generation	γενεαι	74	THE BEAST					
this	ταυτηι	1019	[171]	OCCULT PRACTICES	1476	36	41	MAN'S RULE(S)
a sign	σημειον	383	TRUE PROPHETS IN PRISON					

v13 Words 12 Letters 52 Total = 4436 2 \* 2 \* 1109 [186] 4 MESSAGE 186 NEW GLORY DAWNS

Original Text

	Greek	Value			
And	και	31	FAMILY	747	9 83 NATIONS WHO HATE GOD
he left	αφεις	716	2 358 NATIONS PLUNDERED (CROWN OF GOLD)		
them	αυτους	1371	3 457 WICKED ARE CARELESS OF GOD	1619	[256] FAMILY OF GOD SPLIT
and entering	εμβας	248	DOOMED TO DIE		
again	παλι	171	OCCULT PRACTICES	386	ALLY WITH WICKED
into	εις	215	COURAGE TO FIGHT GONE		
the	το	370	WORSHIP OF ANGELS	680	20 34 MAN'S RELIGION
ship	πλοιο	310	KEEP THE FAITH		
departed	απηλθεν	183	DEADLY BLOW	398	TITHING TO SUPPORT TEMPLE
to	εις	215	COURAGE TO FIGHT GONE		
the	το	370	WORSHIP OF ANGELS	606	2 303 STRONG OPPONENT
other side	περαν	236	HIGH PRIEST ABANDONS FLOCK		

v14 Words 18 Letters 77 Total = 7940 2 \* 2 \* 5 \* 397 20 DISTRESS 397 PARDONED PEOPLE WORSHIP

Original Text

	Greek	Value			
Now	και	31	FAMILY		
they forgot	επελαθον	620	20 31 FAMILY	731	17 43 HUMILIATION
the	οι	80	PRAYER: Son of Man		
disciples	μαθηται	369	HOST OF EVIL ANGELS		
to take	λαβειν	98	RELIGIOUS LEADER BLIND	1538	2 769 [136] CLEAN HEART
bread	αρτους	1071	17 63 GOD'S WRATH		
and	και	31	FAMILY		
if	ει	15	COVENANT	94	PROUD HUMBLED
not	μη	48	FATHER'S BLESSING		
one	ενα	56	HARD HEART		
loaf	αρτον	521	UNGODLY NATION OPPRESSES	1067	11 97 FIRE BURNS ENEMIES
not	ουκ	490	EVERY BOASTFUL MOUTH SHUT		
they had	ειχον	735	5 147 FATHER'S POSSESSION		
with	μεθ	54	FALSE TEACHING	2345	5 469 TEACHERS CAST AWAY
them	εαυτων	1556	4 389 KILLING SPREE IN THE CAMP		
in	εν	55	RESIST TRUTH		
the	τωι	1110	10 111 FEAR OF THE LORD	2165	5 433 KING HANGS VILE ENEMY
ship	πλοιωι	1000	TRIBE		

v15 Words 15 Letters 77 Total = 10474 2 \* 5237 [697] 2 DIVISION 697 =17 VICTORY x 41 MAN'S RELIGION

Original Text

	Greek	Value			
And	και	31	FAMILY		
he charged	διεστελλε	959	7 137 QUARRELING	1971	27 73 BABYLON: World Rule
them	αυτοις	981	9 109 DEFENDER OF THE POOR		
saying	λεγων	888	8 111 FEAR OF THE LORD		
take heed	ορατε	476	MAN: POWERLESS ON EARTH	1791	9 199 DRAMATIC RESCUE
beware	βλεπετε	427	MARRIAGE SUPPER OF THE KING		
of	απο	151	MAN'S POSSESSIONS		
the	της	508	THE LORD LIFTS ME UP	1314	18 73 BABYLON: World Rule
the leaven	ζυμης	655	5 131 CHILDREN OF GOD		
of the	των	1150	10 115 DEATHLY SILENCE		
of the Pharisees	φαρισαιω	1672	4 418 WAY OF HARLOT REJECTED	2853	9 317 MAN OF GOD
and	και	31	FAMILY		
the	της	508	THE LORD LIFTS ME UP		
leaven	ζυμης	655	5 131 CHILDREN OF GOD	2545	5 509 TERROR ON EVERY SIDE
of Herod	ηρωδου	1382	2 691 [125] SURROUNDING PROTECTION		

v16 Words 9 Letters 53 Total = 5253 3 \* 17 \* 103 51 PRAISE 103 IMAGE OF GOD: WORD OF GOD  
 Original Text 17 VICTORY 309 GOOD CONFESSION

	Greek	Value				
And	και	31	FAMILY			
they reasoned	διελογιζον	629	17 37 CHOSEN SERVANT	1110	10	111 FEAR OF THE LORD
among	προς	450	HOPE OF LIFE AFTER DEATH			
themselves	αλληλους	769	[136] CLEAN HEART			
saying	λεγοντες	663	3 221 GOD FORSAKES THEM	1812	4	453 DEATH IS NEAR
(It is) because	οτι	380	PRIESTS CAST OUT			
bread	αρτους	1071	17 63 GOD'S WRATH			
no	ουκ	490	EVERY BOASTFUL MOUTH SHUT	2331	37	63 GOD'S WRATH
we have	εχομεν	770	10 77 THE FALSE PROPHET			

v17 Words 22 Letters 111 Total = 14587 29 \* 503 [96] 29 HOLY ONE 503 SAINTS SNARED

	Greek	Value				
And	και	31	FAMILY	754	2	377 HEART RESENTS KING
knew	γνους	723	3 241 SAINTS IN PRISON			
the	ο	70	ELDER(S)	958	2	479 CLUELESS: EASILY LED ASTRAY
Jesus	ιησους	888	8 111 FEAR OF THE LORD			
he said	λεγει	53	FAITHFUL WITNESS	1034	2	517 MAN'S LIFE EBBS AWAY
to them	αυτοις	981	9 109 DEFENDER OF THE POOR			
Why	τι	310	KEEP THE FAITH	664	2	332 MOCKER IS HUMBLLED
reason you	διαλογιζε	354	MAKE A RELIGIOUS SHOW			
because	οτι	380	PRIESTS CAST OUT	1451	[230]	DISGRACEFUL ACTS
bread	αρτους	1071	17 63 GOD'S WRATH			
not	ουκ	490	EVERY BOASTFUL MOUTH SHUT	1405	5	281 JUSTICE DENIED
ye have?	εχετε	915	5 183 DEADLY BLOW			
Not yet	ουπω	1350	25 54 FALSE TEACHING	1790	10	179 POOR HAVE FAITH
perceive ye	νοειτε	440	HOLY LIFE GAINS NOTHING			
neither	ουδε	479	CLUELESS: EASILY LED ASTRAY	1449	23	63 GOD'S WRATH
understand	συνιετε	970	10 97 FIRE BURNS ENEMIES			
yet?	ετι	315	WEEPING & MOURNING	2333	[345]	DISGRACEFUL ACTS
hardened	πεπωρωμ	2018	2 1009 [169] DEMON WORSHIP			
have ye	εχετε	915	5 183 DEADLY BLOW	1273	19	67 GENTILES PRAISE GOD
the	την	358	NATIONS PLUNDERED (CROWN OF GOLD)			
heart	καρδιαν	186	NEW GLORY DAWNS	1476	4	369 HOST OF EVIL ANGELS
of you?	υμων	1290	10 129 BACKBITING			

v18 Words 12 Letters 64 Total = 8574 2 \* 3 \* 1429 [226] 6 MAN: Flesh 226 ENDLESS STRIFE

	Greek	Value				
eyes	οφθαλμοι	1320	10 132 ANOINTED	2550	25	102 DESTITUTE & ABANDONED
having (but)	εχοντες	1230	5 246 FALSE MESSIAH RULES			
not	ου	470	MAN WISE IN OWN EYES	897	23	39 DISEASE
seeing	βλεπετε	427	MARRIAGE SUPPER OF THE KING			
and	και	31	FAMILY	1132	4	283 KING REJECTED
ears	ωτα	1101	3 367 PLACE OF WORSHIP IS A YOKE			
having (but)	εχοντες	1230	5 246 FALSE MESSIAH RULES	1720	10	172 BLOOD ENEMY
not	ουκ	490	EVERY BOASTFUL MOUTH SHUT			
hearing	ακουετε	801	9 89 SON OF DAVID	832	4	208 LOSS OF FAITH
and	και	31	FAMILY			
not	ου	470	MAN WISE IN OWN EYES	1443	37	39 DISEASE
remembering	μνημονευ	973	7 139 SORcery / CONTROL			

v19 Verse # = 24520 | W Total = 14026 2 \* 7013 [902] 2 DIVISIO| 2 DIVISION 451 HOLY MEN SUFFER IN THIS LIFE

Original Text		Greek		Value			
When	στε	375	BOUND TO TRADITIONS OF MEN	1345	5	269	DAGGER IN BROTHER'S SIDE
the	τους	970	10 97 FIRE BURNS ENEMIES				
five	πεντε	440	HOLY LIFE GAINS NOTHING	1511	[240]		HOLY THINGS LOST
loaves	αρτους	1071	17 63 GOD'S WRATH				
I brake	εκλασα	257	WORSHIP IS AN ABOMINATION	472			THE LORD HEARS
among	εις	215	COURAGE TO FIGHT GONE				
the	τους	970	10 97 FIRE BURNS ENEMIES	2956	4	739	[131] CHILDREN OF GOD
five thousand	πεντακισ	1986	6 331 THE LORD IS MY STRENGTH				
how many	ποσους	1020	10 102 DESTITUTE & ABANDONED	2340	10	234	TURN TO MAN FOR RESCUE
baskets	κοφινους	1320	10 132 ANOINTED				
full	πληρεις	433	KING HANGS VILE ENEMY	1875	5	375	BOUND TO TRADITIONS OF MEN
of fragments	κλασματω	1442	14 103 IMAGE OF GOD: WORD OF GOD				
took ye up?	ηρατε	414	SORROW FOR BROKEN WALLS	1182	6	197	RED DRAGON
They said	λεγουσιν	768	4 192 JEWISH NATION BELIEVES				
to him	αυτωι	1511	[240] HOLY THINGS LOST	2345	5	469	TEACHERS CAST AWAY
twelve	δωδεκα	834	2 417 MOCKING AND INSULTS				

v20 Words 16 Letters 84 Total = 11931 3 \* 41 \* 97 97 FIRE BURNS ENE 123 DEVOTED TO THE LORD

Original Text		Greek		Value			
when	{στε	375	BOUND TO TRADITIONS OF MEN	384			HONOR THE LAW OF GOD
also	δε	9	JUDGMENT				
the	τους	970	10 97 FIRE BURNS ENEMIES	1356	4	339	LINE OF FAITH SURVIVES
seven (loaves)	επτα	386	ALLY WITH WICKED				
to	εις	215	COURAGE TO FIGHT GONE	1185	5	237	GOD'S SPIRIT FILLS A NEW PRIEST
the	τους	970	10 97 FIRE BURNS ENEMIES				
four thousand	τετρακισ	2256	16 141 TEACHABLE	3456	8	432	KING HONORS FAITHFUL SERVANT
how many	ποσων	1200	12 100 HOLY FLOCK				
baskets	σπιριδων	1644	4 411 FASTING AND PRAYER	3004	4	751	[133] BROTHERLY LOVE
full	πληρωμα	1360	10 136 CLEAN HEART				
of fragments	κλασματω	1442	14 103 IMAGE OF GOD: WORD	1856	4	464	LOST SOUL
took ye up?	ηρατε	414	SORROW FOR BROKEN WALLS				
wherefore	οι	80	PRAYER: Son of Man	89			SON OF DAVID
and	δε	9	JUDGMENT				
they (said)	ειπον	215	COURAGE TO FIGHT GONE	601	[110]		DAY OF WRATH
Seven (baskets)	επτα	386	ALLY WITH WICKED				

v21 Words 6 Letters 27 Total = 3630 2 \* 3 \* 5 \* 11 \* 11 15 COVENANT 242 SAINTS GO TO HEAVEN

Original Text		Greek		Value			
And	και	31	FAMILY	129			BACKBITING
he said	ελεγεν	98	RELIGIOUS LEADER BLIND				
unto them	αυτοις	981	9 109 DEFENDER OF THE POOR	2061	9	229	APOSTATE TRIBE
How (ye)	πως	1080	10 108 GOD ALONE CAN SAVE				
not	ου	470	MAN WISE IN OWN EYES	1440	40	36	EXALTING MAN
understand?	συνιετε	970	10 97 FIRE BURNS ENEMIES				

v22 Words 14 Letters 77 Total = 9796 2 \* 2 \* 31 \* 79 79 MARTYRS 124 DEADLY TRAP ESCAPED

Original Text		Greek	Value			
And	και		31	FAMILY	1052	2 526 MOUNT ZION, CITY OF GOD
he came	ερχεται		1021	[172] BLOOD ENEMY		
to	εις		215	COURAGE TO FIGHT GONE	450	HOPE OF LIFE AFTER DEATH
Bethsaida	βηθσαιδα		235	GROVELLING INDIGNITY		
and	και		31	FAMILY	1366	2 683 [124] DEADLY TRAP ESCAPED
they brought	φερουσιν		1335	5 267 MAN OF SORROWS		
unto him	αυτωι		1511	[240] HOLY THINGS LOST	2861	[416] PEOPLE WORK ON WALLS
a blind man	τυφλον		1350	25 54 FALSE TEACHING		
and	και		31	FAMILY	994	2 497 GLORY TO GOD IN THE HIGHEST
(who) beseeched	παρακαλε		963	3 321 EVIL REPLACES GOOD		
him	αυτον		821	[142] RASH DECISION	882	2 441 CRY TO GOD IS NOT HEARD
to	ινα		61	KING OF JEWS: MESSIAH		
him	αυτου		1171	[193] GREAT CITY FALLS	2191	7 313 LYING PROPHETS
touch	αψηται		1020	5 204 LOSS OF HOLY LIFE		

v23 Words 26 Letters 125 Total = 17124 2 \* 2 \* 3 \* 1427 [225] 12 GOVERNMENT 225 UNHOLY ALLIANCE

Original Text		Greek	Value			
And	και		31	FAMILY	594	2 297 HOLY TEMPLE
he took	επιλαβου		563	[103] IMAGE OF GOD: WORD OF GOD		
the	της		508	THE LORD LIFTS ME UP	1493	[238] LORD'S SACRIFICE SCORNE
hand	χειρος		985	5 197 RED DRAGON		
of the	του		770	10 77 THE FALSE PROPHET	2470	10 247 TREATY WITH FALSE MESSIAH
blind man	τυφλου		1700	10 170 GRAVEN IMAGE		
and led	εξηγαγεν		135	SPIRITUAL GIFTS	956	4 239 GOD'S SPIRIT FILLS A NEW PROPHET
him	αυτον		821	[142] RASH DECISION		
out of	εξω		865	5 173 GREAT BATTLE	1373	[220] THIRST FOR VENGEANCE
the	της		508	THE LORD LIFTS ME UP		
town	κωμης		1068	4 267 MAN OF SORROWS	1099	7 157 CHOSEN PEOPLE
and	και		31	FAMILY		
he spit	πτυσας		1181	[194] LOVE OF MONEY CURSED	1396	4 349 RISK THEIR LIVES
on	εις		215	COURAGE TO FIGHT GONE		
the	τα		301	KING PILES UP WEALTH	753	3 251 EVIL SPIRIT CONTROLS
eyes	ομματα		452	PEACE IN THE NEXT LIFE		
of him	αυτου		1171	[193] GREAT CITY FALLS	1490	10 149 DEFEND THE FAITH
putting	επιθεις		319	UNWILLING TO SACRIFICE		
his	τας		501	RELIGIOUS CONTROL	1417	13 109 DEFENDER OF THE POOR
hands	χειρας		916	2 458 WICKED ARE WORTHLESS TO GOD		
upon him	αυτωι		1511	[240] HOLY THINGS LOST	2805	33 85 HOLY COMMUNION
he asked	επηρωτα		1294	2 647 [118] JEWS FOLLOW JESUS		
him	αυτον		821	[142] RASH DECISION	836	2 418 WAY OF HARLOT REJECTED
any	ει		15	COVENANT		
thing	τι		310	KEEP THE FAITH	442	GOD NOT DENIED
he saw	βλεπει		132	ANOINTED		

v24 Words 9 Letters 56 Total = 7427 7 \* 1061 [178] 7 THE END: Time 178 TWO WITNESSES

Original Text		Greek	Value			
And	και		31	FAMILY		
he looked up,	αναβλεψε		990	10 99 SHEKINAH GLORY OF GOD	1069	[180] SIN BRINGS CURSE
and said,	ελεγε		48	FATHER'S BLESSING		
I see	βλεπω		917	7 131 CHILDREN OF GOD		
the	τους		970	10 97 FIRE BURNS ENEMIES	3597	33 109 DEFENDER OF THE POOR
men	ανθρωπο		1710	10 171 OCCULT PRACTICES		
as	ως		1000	TRIBE		
trees	δενδρα		164	APOSTATE RELIGION	2761	11 251 EVIL SPIRIT CONTROLS
walking.	περιπατο		1597	[251] EVIL SPIRIT CONTROLS		

v25	Words 19 Letters 112	Total =	11906	2 * 5953 [781]	2 DIVISION	781	11	71 JUDGE(S)
		Original Text						
		Greek	Value					
After		ειτα	316	PEOPLE REJOICE				
again		παλιw	171	OCCULT PRACTICES				
that he put		επεθηκε	132	ANOINTED				
his		τας	501	RELIGIOUS CONTROL	5592	24	233	BELIEVERS APPEAR IN HOLY LAND
hands		χειρας	916	4 229 APOSTATE TRIBE				
upon		επι	95	VOICE OF GOD				
his		τους	970	10 97 FIRE BURNS ENEMIES				
eyes		οφθαλμοι	1320	6 220 THIRST FOR VENGEANCE				
of him		αυτου	1171	[193] GREAT CITY FALLS				
and		και	31	FAMILY				
made		εποιησεν	428	QUEEN CROWNED	2080	20	104	WORKERS DIVIDED
him		αυτον	821	[142] RASH DECISION				
look up		αναβλεψα	800	GOOD SHEPHERD				
and		και	31	FAMILY	1026	2	513	THE LORD FIGHTS FOR ME
he was restored		αποκατεσ	995	5 199 DRAMATIC RESCUE				
and		και	31	FAMILY				
saw		ενεβλεψε	802	2 401 O LORD SAVE US!	3208	8	401	O LORD SAVE US!
clearly		τηλαυωσ	1742	13 134 COMPLAINING				
every man		απαντας	633	3 211 EVERY MAN FOR HIMSELF				

v26	Words 19 Letters 87	Total =	8468	2 * 2 * 29 * 73	29 HOLY ONE	292	KING OF KINGS
		Original Text			146 FREE OF ALL BON	58	WORLDLY LIFE
		Greek	Value		73 BABYLON: Worl	116	PRAYER OF CONFESSION
And		και	31	FAMILY			
he sent		απεστειλε	686	2 343 REMNANT SCATTERS			
him		αυτον	821	[142] RASH DECISION	3564	81	44 MURDERERS: Secret World
to		εις	215	COURAGE TO FIGHT GONE			
his		τον	420	RULE OF MAN			
house		οικον	220	THIRST FOR VENGEANCE			
of him		αυτου	1171	[193] GREAT CITY FALLS			
saying		λεγων	888	8 111 FEAR OF THE LORD			
neither		μηδε	57	DEPART THE FAITH			
into		εις	215	COURAGE TO FIGHT GONE			
the		την	358	NATIONS PLUNDERED (CROWN OF GOLD)			
town		κωμην	918	2 459 AGONY ALONE IN DARKNESS			
go		εισεληθις	477	MAN: POWERLESS IN HEAVEN	4904	8	613 [112] GENEROSITY TO THE POOR
nor		μηδε	57	DEPART THE FAITH			
tell		ευητις	313	LYING PROPHETS			
this		τινι	370	WORSHIP OF ANGELS			
in		εν	55	RESIST TRUTH			
the		τηι	318	SELF SERVING SERVANT			
town		κωμηι	878	2 439 BITTER SOUL			

v27		Words 30 Letters 141	Total =	16421	[1903]	11 * 173	173 GREAT BATTLE	11 MYSTERY: Darkness
		Original Text	Greek	Value				
And	και	31	FAMILY					
went out,	εξηλθεν	167	MARK OF THE BEAST	268		BLOOD OF SAINTS PRECIOUS		
the	ο	70	ELDER(S)					
Jesus	ιησους	888	8 111 FEAR OF THE LORD					
and	και	31	FAMILY	999		3 333 SIGN OF GOD		
the	οι	80	PRAYER: Son of Man					
disciples	μαθηται	369	HOST OF EVIL ANGELS					
his	αυτου	1171	[193] GREAT CITY FALLS	1755		5 351 PUT A HAND ON THE HOLY ONE		
into	εις	215	COURAGE TO FIGHT GONE					
the	τας	501	RELIGIOUS CONTROL					
towns	κωμας	1061	[178] TWO WITNESSES	2110		10 211 EVERY MAN FOR HIMSELF		
Caesarea	καισαρεια	548	2 274 EVERLASTING THRONE OF DAVID					
of	της	508	THE LORD LIFTS ME UP					
Philip	φιλιππου	1180	20 59 RICH OPPRESSOR	1719		9 191 AWE OF GOD		
and	και	31	FAMILY					
by	εν	55	RESIST TRUTH					
the	τη	318	SELF SERVING SERVANT	1257		3 419 SCHEME TO HARM WORKERS		
way	οδω	884	4 221 GOD FORSAKES THEM					
he asked	επηρωτα	1294	2 647 [118] JEWS FOLLOW JESUS					
his	τους	970	10 97 FIRE BURNS ENEMIES	2823		3 941 [160] SEPARATED CHURCH		
disciples,	μαθητας	559	13 43 HUMILIATION					
unto them	αυτου	1171	[193] GREAT CITY FALLS					
saying	λεγων	888	8 111 FEAR OF THE LORD	3040		20 152 THE SPIRIT OF THE LORD		
to them	αυτοις	981	9 109 DEFENDER OF THE POOR					
Whom	τινα	361	THE GREAT PROSTITUTE					
I	με	45	PRESERVED LIFE	1174		2 587 [107] CRY OUT TO GOD IN DISTRESS		
do say	λεγουσιν	768	4 192 JEWISH NATION BELIEVES					
the	οι	80	PRAYER: Son of Man					
men	ανθρωπο	1120	16 70 ELDER(S)	1276		4 319 UNWILLING TO SACRIFICE		
(I) am?	ειναι	76	PROPHET(S)					

v28		Words 14 Letters 68	Total =	6448	2 * 2 * 2 * 2 * 13 * 31	31 FAMILY	208 LOSS OF FAITH
		Original Text	Greek	Value		26 GOSPEL	248 DOOMED TO DIE
						13 REBELLION	496 LORD COMES DOWN
Behold!	οι	80	PRAYER: Son of Man	89		SON OF DAVID	
And	δε	9	JUDGMENT				
they answered:	απεκριθη	484	TORMENT THE RIGHTEOUS	1453		2 727 [129] BACKBITING	
John	ωαννην	969	3 323 FALSE PROPHETS DIE				
the	τον	420	RULE OF MAN	1371		4 343 REMNANT STRUGGLES	
Baptist;	βαπτιστη	951	3 317 MAN OF GOD				
And	και	31	FAMILY	172		4 43 HUMILIATION	
some (say)	αλλοι	141	TEACHABLE				
Elias;	ηλιαν	99	SHEKINAH GLORY OF GOD	240		HOLY THINGS LOST	
Others (say)	αλλοι	141	TEACHABLE				
but	δε	9	JUDGMENT	65		APOSTASY	
one (of)	ενα	56	HARD HEART				
the	των	1150	10 115 DEATHLY SILENCE	3058		20 153 THE SPIRIT OF THE LORD	
prophets	προφητω	1908	4 477 MAN: POWERLESS IN HEAVEN				

v29 Words 20 Letters 84 Total = 8598 2 \* 3 \* 1433 [227] 6 MAN: Flesh 227 BLINDNESS TO BETRAYAL

Original Text		Greek		Value			
And	και	31	FAMILY	1002	2	501	RELIGIOUS CONTROL
he	αυτος	971	[164] APOSTATE RELIGION				
said	λεγει	53	FAITHFUL WITNESS	1034	2	517	MAN'S LIFE EBBS AWAY
to them:	αυτοις	981	9 109 DEFENDER OF THE POOR				
Ye	υμεις	655	5 131 CHILDREN OF GOD	664	4	166	DETEST IDOL WORSHIP
however,	δε	9	JUDGMENT				
whom (do you)	τινα	361	THE GREAT PROSTITUTE	406			FEAST IN PRESENCE OF ENEMIES
Me	με	45	PRESERVED LIFE				
pronounce	λεγετε	348	DESTROY THE BEAST	424			HOLY CITY
to be?	ειναι	76	PROPHET(S)				
Answering:	αποκριθει	505	OUTCAST IS COMFORTED	514			EVILDOERS LIE FALLEN
Indeed	δε	9	JUDGMENT				
the	ο	70	ELDER(S)	825	5	165	PEACE AND SAFETY
Peter	πετρος	755	5 151 MAN'S POSSESSIONS				
said	λεγει	53	FAITHFUL WITNESS	1564	4	391	HOLY ONE OF GOD IS KILLED
to him,	αυτωι	1511	[240] HOLY THINGS LOST				
Thou	συ	600	ARMED FORCE	615	5	123	DEVOTED TO THE LORD
art	ει	15	COVENANT				
the	ο	70	ELDER(S)	1550	5	310	KEEP THE FAITH
Christ	χριστος	1480	10 148 ELECT OF GOD				

v30 Verse # = 24531 | W Total = 4307 59 \* 73 59 RICH OPPRESSOR 73 BABYLON: World Rule

Original Text		Greek		Value			
And	και	31	FAMILY	734	2	367	PLACE OF WORSHIP IS A YOKE
he charged	επειμησα	703	19 37 CHOSEN SERVANT				
them	αυτοις	981	9 109 DEFENDER OF THE POOR	1042	2	521	UNGODLY NATION OPPRESSES
that	ινα	61	KING OF JEWS: MESSIAH				
they should tell	μηδενι	117	RELIGIOUS BUT UN-REDEEMED	1165	5	233	BELIEVERS APPEAR IN HOLY LAND
no man	λεγωσι	1048	2 524 THE LORD IS WITH US				
of	περι	195	COVENANT RENEWED	1366	2	683	[124] DEADLY TRAP ESCAPED
him.	αυτου	1171	[193] GREAT CITY FALLS				

v31	Words 28 Letters 161	Total =	15859	[1848, 2 * 2 * 2 * 3 * 7 * 11	21 LAWLESSNESS	88 RIGHTEOUS AFFLICTED
		Original Text			33 SCATTERED REM	56 HARD HEART
		Greek	Value		24 PRIEST	77 THE FALSE PROPHET
And	και	31	FAMILY			
he began	ηρξατο	539	7 77 THE FALSE PROPHET	2245	5	449 MAN HIDES FROM GOD
to teach	διδασκειν	304	PAGAN ALTAR			
them	αυτους	1371	3 457 WICKED ARE CARELESS OF GOD			
that	οτι	380	PRIESTS CAST OUT			
must	δει	19	FAITH	1349	19	71 JUDGE(S)
the	τον	420	RULE OF MAN			
the Son	υιον	530	EVIL MAN BOASTS IN WEALTH			
of	του	770	10 77 THE FALSE PROPHET			
Man	ανθρωπο	1510	10 151 MAN'S POSSESSIONS	2646	49	54 FALSE TEACHING
many things	πολλα	211	EVERY MAN FOR HIMSELF			
suffer	παθειν	155	HONOR RELATIVES			
and	και	31	FAMILY			
be rejected	αποδοκιμ	574	2 287 UNREPENTANT DIE	1906	2	953 [162] IDOL
of	απο	151	MAN'S POSSESSIONS			
the	των	1150	10 115 DEATHLY SILENCE			
elders	πρεσβυτε	2042	2 1021 [172] BLOOD ENEMY			
and	και	31	FAMILY	3775	25	151 MAN'S POSSESSIONS
chief priests	αρχιερω	1671	3 557 [102] DESTITUTE & ABANDONED			
and	και	31	FAMILY			
scribes	γραμματε	1340	10 134 COMPLAINING			
and	και	31	FAMILY	2002	26	77 THE FALSE PROPHET
be killed	αποκτανθ	600	ARMED FORCE			
and	και	31	FAMILY			
after	μετα	346	RULERS OVER SPIRITUAL SONS			
three	τρεις	615	5 123 DEVOTED TO THE LORD	1936	8	242 SAINTS GO TO HEAVEN
days	ημερας	354	MAKE A RELIGIOUS SHOW			
rise again	αναστηνα	621	3 207 LOSS OF SAFETY			

v32	Words 13 Letters 74	Total =	6416	2 * 2 * 2 * 2 * 401	401 O LORD SAVE US!	16 SACRIFICE
		Original Text				
		Greek	Value			
And	και	31	FAMILY			
openly	παρρησια	510	THE LORD FORGIVES ME			
he	τον	420	RULE OF MAN	1265	5	253 SPIRITUAL BATTLE
spoke	λογον	223	HOT TEMPERED			
that saying	ελαλει	81	HOLY ANGELS			
And	και	31	FAMILY			
took	προσλαβα	918	2 459 AGONY ALONE IN DARKNESS			
him	αυτον	821	[142] RASH DECISION			
the	ο	70	ELDER(S)	3103	29	107 CRY OUT TO GOD IN DISTRESS
Peter	πετρος	755	5 151 MAN'S POSSESSIONS			
and began	ηρξατο	539	7 77 THE FALSE PROPHET			
to rebuke	επιτιμειν	506	CRY FOR MERCY HEARD			
him	αυτωι	1511	[240] HOLY THINGS LOST			

v33 Verse # = 24534 | W Total = 18486 2 \* 3 \* 3 \* 13 \* 79 79 MARTYRS 234 TURN TO MAN FOR RESCUE

Original Text		Greek	Value			
Behold!	ο	70	ELDER(S)	79	MARTYRS	
But	δε	9	JUDGMENT			
having turned	επιστραφ	1411	17 83 NATIONS WHO HATE GOD	1442	14	103 IMAGE OF GOD: WORD OF GOD
and	και	31	FAMILY			
having seen	ιδων	864	4 216 BROTHERLY LOVE GONE	1834	14	131 CHILDREN OF GOD
the	τους	970	10 97 FIRE BURNS ENEMIES			
disciples	μαθητας	559	13 43 HUMILIATION	1730	10	173 GREAT BATTLE
of him	αυτου	1171	[193] GREAT CITY FALLS			
he rebuked	επειτιμωσ	653	[119] LOVE THE LAW	1763	41	43 HUMILIATION
the	τωι	1110	10 111 FEAR OF THE LORD			
Peter	πετρωι	1295	5 259 BELIEVERS HUNTED DOWN	2183	37	59 RICH OPPRESSOR
saying	λεγων	888	8 111 FEAR OF THE LORD			
Get	υπαγε	489	RAIN OF FIERY SULFUR FALLS	1649	17	97 FIRE BURNS ENEMIES
behind	οπισω	1160	10 116 PRAYER OF CONFESSION			
me	μου	510	THE LORD FORGIVES ME	1063	[179]	POOR HAVE FAITH
Satan	σατανα	553	7 79 MARTYRS			
for	οτι	380	PRIESTS CAST OUT	850	5	170 GRAVEN IMAGE
not	ου	470	MAN WISE IN OWN EYES			
your thoughts of	φρονεις	935	5 187 ASCENSION TO HEAVEN	1236	4	309 GOOD CONFESSION
the	τα	301	KING PILES UP WEALTH			
things	του	770	10 77 THE FALSE PROPHET	1254	33	38 BREAKING FAITH: HARLOT
of God	θεου	484	TORMENT THE RIGHTEOUS			
but	αλλα	62	JERUSALEM ROYAL CITY	363		MINISTERS UNDER KING'S THUMB
all	τα	301	KING PILES UP WEALTH			
things	των	1150	10 115 DEATHLY SILENCE	3040	10	304 PAGAN ALTAR
of men	ανθρωπων	1890	10 189 SWEAR AN OATH			

v34 Words 25 Letters 138 Total = 17149 11 \* 1559 [246] 11 MYSTERY: Darkn 246 FALSE MESSIAH RULES

Original Text		Greek	Value			
And	και	31	FAMILY			
when he had called	προσκαλε	1072	2 536 RULERS ARE VENOMOUS SNAKES			
the	τον	420	RULE OF MAN	2993	41	73 BABYLON: World Rule
people	οχλον	820	10 82 THRONE OF GOD			
with	συν	650	10 65 APOSTASY			
his	τοις	580	20 29 HOLY ONE			
disciples	μαθητας	569	[104] WORKERS DIVIDED			
to him	αυτου	1171	[193] GREAT CITY FALLS	3451	29	119 LOVE THE LAW
he said	ειπεν	150	CURSE ON EVIL SONS			
to them	αυτοις	981	9 109 DEFENDER OF THE POOR			
whosoever	οστις	780	10 78 MIRACULOUS SIGNS			
will	θει	59	RICH OPPRESSOR			
after	οπισω	1160	10 116 PRAYER OF CONFESSION	2618	22	119 LOVE THE LAW
me	μου	510	THE LORD FORGIVES ME			
come	ελθειν	109	DEFENDER OF THE POOR			
let him deny	απαρνησ	1450	5 290 HOLY ONE OF ISRAEL			
himself	εαυτον	826	2 413 SIN REPENTED PUBLICLY			
and	και	31	FAMILY	3929	[545]	5 109 DEFENDER OF THE POOR
take up	αρατω	1202	2 601 [110] DAY OF WRATH			
the	τον	420	RULE OF MAN			
cross	σταυρον	1121	19 59 RICH OPPRESSOR			
of him	αυτου	1171	[193] GREAT CITY FALLS			
and	και	31	FAMILY	4158	42	99 SHEKINAH GLORY OF GOD
follow	ακολουθε	1715	5 343 REMNANT SCATTERS			
me	μοι	120	MAN OF PEACE			

v35 Words 25 Letters 110 Total = 15553 103 \* 151 103 IMAGE OF GOD: WORD OF GOD  
151 MAN'S POSSESSIONS

Original Text					
Greek	Value				
whosoever	ος	270	PEACEMAKER		
indeed	γαρ	104	WORKERS DIVIDED		
if	αν	51	PRAISE	845	5 169 DEMON WORSHIP
might desire	θελητι	62	JERUSALEM ROYAL CITY		
the	την	358	NATIONS PLUNDERED (CROWN OF GOLD)		
life	ψυχην	1758	6 293 ACCOUNTS SETTLED		
of him	αυτου	1171	[193] GREAT CITY FALLS		
to save	σωσαι	1211	7 173 GREAT BATTLE	5300	10 530 EVIL MAN BOASTS IN WEALTH
will lose	απολεσει	401	O LORD SAVE US!		
it	αυτην	759	23 33 SCATTERED REMNANT		
whosoever	ος	270	PEACEMAKER		
moreover	δ	4	MESSAGE		
anyway	αν	51	PRAISE	1087	[181] ALIEN RULER
will lose	απολεσει	404	PROCLAIM FREEDOM OF WORSHIP		
the	την	358	NATIONS PLUNDERED (CROWN OF GOLD)		
life	ψυχην	1758	6 293 ACCOUNTS SETTLED		
of him	αυτου	1171	[193] GREAT CITY FALLS		
on account of	ενεκεν	135	SPIRITUAL GIFTS	3610	10 361 THE GREAT PROSTITUTE
my sake	εμου	515	MEEK INHERIT THE LAND		
and	και	31	FAMILY		
of the	του	770	10 77 THE FALSE PROPHET		
gospel	ευαγγελια	927	9 103 IMAGE OF GOD: WORD OF GOD		
he	ουτος	1040	10 104 WORKERS DIVIDED	4711	7 673 [122] CITY OF PEACE
shall save	σωσει	1215	5 243 SAINTS CROWNED		
it.	αυτην	759	23 33 SCATTERED REMNANT		

v36 Words 14 Letters 69 Total = 8843 37 \* 239 37 CHOSEN SERVANT 239 GOD'S SPIRIT FILLS A NEW PROPHET

Original Text					
Greek	Value				
what	τι	310	KEEP THE FAITH	414	SORROW FOR BROKEN WALLS
Indeed	γαρ	104	WORKERS DIVIDED		
shall it profit	ωφελησει	1558	41 38 BREAKING FAITH: HARLOT	2718	18 151 MAN'S POSSESSIONS
a man,	ανθρωπο	1160	20 58 WORLDLY LIFE		
if	εαν	56	HARD HEART	411	FASTING AND PRAYER
he shall gain	κερδησει	355	WEAK SPIRITUAL JUDGMENT		
the	τον	420	RULE OF MAN	870	10 87 SAINTS ASSEMBLY
world	κοσμον	450	HOPE OF LIFE AFTER DEATH		
whole	ολον	220	THIRST FOR VENGEANCE	251	EVIL SPIRIT CONTROLS
and	και	31	FAMILY		
lose	ζημιωθη	892	2 446 GOD IS PLEASED WHEN	1250	50 25 PAYMENT FOR SIN
the	την	358	NATIONS PLUNDERED (CROWN OF GOLD)		
soul	ψυχην	1758	6 293 ACCOUNTS SETTLED	2929	29 101 REBELLIOUS CAST OUT
of his	αυτου	1171	[193] GREAT CITY FALLS		

v37 Words 8 Letters 39 Total = 6691 [863] [150] CURSE ON EVIL SONS

Original Text					
Greek	Value				
Or	η	8	HOLY MAN / NEW MAN	318	SELF SERVING SERVANT
what	τι	310	KEEP THE FAITH		
shall give	δωσει	1019	[171] OCCULT PRACTICES	2329	17 137 QUARRRELING
a man	ανθρωπο	1310	10 131 CHILDREN OF GOD		
in exchange (for)	ανταλλα	457	WICKED ARE CARELESS OF GOD	965	5 193 GREAT CITY FALLS
the	της	508	THE LORD LIFTS ME UP		
soul	ψυχης	1908	4 477 MAN: POWERLESS IN HE	3079	[440] HOLY LIFE GAINS NOTHING
of him?	αυτου	1171	[193] GREAT CITY FALLS		

v38 Verse # = 24539 | W Total = 22867 13 \* 1759 [274] 13 REBELLION 274 EVERLASTING THRONE OF DAVID

Original Text					
	Greek	Value			
Whosoever	ος	270	PEACEMAKER		
therefore	γαρ	104	WORKERS DIVIDED		
if (they)	αν	51	PRAISE		
have been ashamed	επαισχυν	1373	[220] THIRST FOR VENGEANCE		
of me	με	45	PRESERVED LIFE		
and	και	31	FAMILY		
of	τους	970	10 97 FIRE BURNS ENEMIES		
my	εμους	715	5 143 FACTIONS		
words	λογους	773	[137] QUARRELING	9004	4 2251 [335] HEARTFELT GRIEF OF SIN
in	εν	55	RESIST TRUTH		
the	τηι	318	SELF SERVING SERVANT		
generation	γενεαι	74	THE BEAST		
this	ταυτηι	1019	[171] OCCULT PRACTICES		
the	τηι	318	SELF SERVING SERVANT		
adulterous	μοιχαλιδι	775	5 155 HONOR RELATIVES		
and	και	31	FAMILY		
sinful	αμαρτωλο	2082	6 347 CITY THAT KILLS PROPHETS		
also	και	31	FAMILY		
the	ο	70	ELDER(S)		
Son	υιος	680	20 34 MAN'S RELIGION		
of the	του	770	10 77 THE FALSE PROPHET		
Man	ανθρωπο	1510	10 151 MAN'S POSSESSIONS		
shall be ashamed of	επαισχυν	1879	[289] GIVE GLORY TO GOD !		
him	αυτον	821	[142] RASH DECISION		
when	οταν	421	RULE OF LAW		
he shall come	ελθι	62	JERUSALEM ROYAL CITY	13863	3 4621 [624] 16 39 DISEASE
in	εν	55	RESIST TRUTH		
the	τηι	318	SELF SERVING SERVANT		
the glory	δοξηι	152	THE SPIRIT OF THE LORD		
of the	του	770	10 77 THE FALSE PROPHET		
Father	πατρος	751	[133] BROTHERLY LOVE		
of him	αυτου	1171	[193] GREAT CITY FALLS		
with	μετα	346	RULERS OVER SPIRITUAL SONS		
the	των	1150	10 115 DEATHLY SILENCE		
angels	αγγελων	892	2 446 GOD IS PLEASED WHEN WE SUFFER		
the	των	1150	10 115 DEATHLY SILENCE		
holy ones	αγιων	864	4 216 BROTHERLY LOVE GONE		